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SEMESTER 1 DATE OF EXAM
SUBJECT Introduction To SUBJECT CODE
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TIME 9.00 to 12.00 MAX. MARKS
PROGRAM B.Tech CREDITS
NAME OF Mr. Sujeet NAME OF
FACULTY COURSE
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Note: Part A: All questions are compulsory. Questions will be of short answer type (2

Marks).

‘Part B: All questions are compulsory. Questions will be of short answer type and brief

answer type(2,4 Marks).

Part C-All questions.are compulsory. Questions will be of descriptive type or scenarios

based. Each question will be of (10 Marks).

Part D: All questions are compulsory. Questions will be of descriptive type or scenarios.
based, Each question will be of (10 Marks).

do you understand by
). | Discretionary Access Control (DAC).
Explain with the help of examples
Co4 L1,L2 1.2.1
-{ Differentiate between white hat hacker
[ and black hat hacker. Explain ecach
with the help of real life scenarios.
COo3 1213 14
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| What are the difference between active | 2 CO1 L1,L2 1.2
| attack and passive attack? Explain in
| detail.

¥ What are the difference between
| moral, Ethics and Law? Explain with
|| the help of example.

| 2 | CO2 L2,L3 1.4

!l Explain the term cyber stalking with
| the help of real life case scenario.

2 | CO2 L1,L2 1.3

What do you understand by sociology
i| of cyber criminals? Explain with the
i help of case study. 2 C0O2 1L.2.L3 14.1

4| Write short note on IT Act 2000 and
| Amendments. '

2 | CO2 L1,L2 1.2.1

Define parkerian hexad in terms of
nformation security. Explain with
| help of real-world scenarios.

2 | Col L2,L3 1.3.1

| What do you understand by Botnet
80| and Script kiddies? Explain both with

| the help of case study. CO2,
i 4 |1CO3 L2,13 [ 21.1

What are the different domains of
| cyber security? Give real life
A8l examples to support your answer.
| Which domain will you prefer? 10| con 13,14 | 2.1.1

-4l Discuss the term social engineering?
vill What are the different types of social
| engineering? What are the counter
| measure we can take to overcome this

issue? 10| CO2,CO3 | 13,14 | 2.3.1
‘ 10| CO3 12,13 | I.L1

_;- | Write down and explain each of the

e shok sk e sk ok

TR
e

Scanned with CamScanner



| below mentioned terms:
v’ Fraud

v" Copyright

v’ Defamation

v’ Harassment and Stalking
v" Trade Secrets

| What do you understand by Denial Of
= | Service Attack, Email Bombing and
| Email Spoofing? Explain each with

o the help of IT Act 2000 and

) | Amendments. 10| CO2,CO3 | 13,14 | 122

| Explain different types of hackers in.
| cyber security. Provide a real-life
| example to support your answer. 10 | CO3 L3,14 1.4.1

| Explain different job roles available in
.| the field of information security.
| Which job is suitable for you and
i why?

10| CO2 L2,13 1.2.1

| Explain the different types of attacks
n information security. Support your
answer with the help of example.

10] CO3 L3,14 [24.1

| There is a web application running on
= | which Nmap scan has been performed

| and it gave us host name which is
Darren@hunt and got two open ports
80, 22. According to the given
information, What will be the further
il steps to get an access of the web
| server? Please assume the missing
)| data. 10 | CO4 L3,14 | 242

skt sk
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SEMESTER 1 DATE OF EXAM 16.01.2023
SUBJECT NAME | Digital product Engineeri mg SUBJECT CODE (CSH105B-T)

& Design Thinking it
BRANCH CDF ' SESSION 2022-23 (1)
TIME 9:00 AM-12:00 Noon MAX. MARKS 100
PROGRAM B.TECH ' CREDITS 4
NAME OF Dr Sanjay Singh, NAME OF COURSE | Dr Sanjay Singh
FACULTY COORDINATOR

Note: Part 4 : Al questions are compulsory. Questions will be of short answer type (20 Marks)
Part B, C.D: Questions will be of descriptive ype or Humerical.

I::f;gg;ct manager was first referred to as __ during ) co1 BT1 1.9.1

Design Thinking is: 2 co2 BT1 121
| What are the steps of the design thinking process? 2 co2 BT2 | 1.22
What does North Star mean in Product? 2 CO2 BT1 1.21

illin the blank: “Before we start charging our customers

or theﬂapp, we are going to first give themour 2 co1 BT1 1.2.1

—--is one of methods to define a problem statement. ) co2 BT1 121

ek ek
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| Write the method that are used for sh ortlisting ideas for

| prototyping? 2 co1 BT1 1.2.1
| What is the primary purpose of capability Maturity
Model? 2 Co1 BT1 1.2.1
Integrating with another company that supplies the raw
material for manufacture of its product is called ? 2 Co1 BT1 | 1.21
Design Thinking typically helps in 2 co1 BT | 121
| What are the stages in Design Thinking? Explain in detail. | 10 co1 BT2 | 2.1.2
| What Is the Product De\felopment Cycle? 10 co1 BT2 | 2.1.2

Define iceberg model of system thinking‘.

Apply iceberg model in context of software product | 10 COo3 BT3 2.1.3
development.

| lllustrate the nine components of business model canvas | 10 co3 BT3 |[1.7.1

Demonstrate in detail the day wise plan of Design Sprint

for '__;olwng a complex problem. Apply it in your choice of 10 coa BT | 282
Business.

Explain the digital marketing framework. Analyze Digital

;zran”ework that can be applied to your business in 10 coa BT4 | 363

Analyze Ul & UX? Why UX need to be user centric? What
are the different types of requirements? 10 COo5 BT4 | 2.6.3

Elaborate about Prototype, its types and the benefits.
Detail about Evaluation and the performance of a

i 10 cos BT5 | 2.7.2
4 product.
T 3 Pty
LR E £
55
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DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY
“End Semester Examination, December 2022

SEMESTER I DATE OF EXAM | 19.01.2023
SUBJECT Programming for Problem Solving | SUBFJECT CODE CSHI101B-T
NAME using C
BRANCH CSE/AIML/CDFD/CSTI/R&AI/ECE | SESSION I(9:60AM -
12:06NOON)

TIME 3 hrs MAX. MARKS 103
PROGRAM CSE/AIML/CDFD/CSTI/R&AI/ECE | CREDITS 4
NAME OF Dr. Deepti Thakral NAME OF Dr. Deepti Thakral
FACULTY Dr. Manpreet Kaur COURSE

Dr. Parneeta Dhaliwal COORDINATOR

Ms. Chandni Magoo

Ms. Kirti Aggarwal

Note: All questions are compulsory.

Ql(a) | Differentiate between Structure and Union. 2 C0o2 BTI 141 |

Q1(b) | What is an identifier (variable)? What are the rules 2 CO1 BT2 1.4.1

- to construct an identifier?
QI1(c) | Differentiate between malloc and calloc. 2 CO3 BT2

Ql(d) | Write an algorithm to find the largest of three 2 CO1 BT3 2.1.3

numbers.

Ql(e) | Explain the functionality of (1)sizeof() (ii) goto 2 CO1 BT3 1.4.1

QI(f) [ A structure BOOK is declared as 2 Co2 BT2 1.4.1
struct BOOK { '

char title[50];

char author[407;

float price;

1bl;

Find the memory occupied by structure variable b1?

QI(g) | Differentiate between a function declaration and

function definition with example.

QIL(h) | Describe the use of case control structure (switch) 2 Co1 BT2 1.4.1

with syntax and example. :

Ql(i) | Differentiate between Pre and Post increment 2 CO1 BT2 1.4.1

operator,

Q1() | Find the output of the following code snippet: 2 CO1 BT3 . 2.1.3

void main (){

mtx =124,y =139,z = 145;

Z=x+y;

Y=z-y;

X=2z-y;

printf ("\n%d %d %d", x, y, z);
!

(3

CO1 BT2 1.4.1

)
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Q2 a) Consider a scenario of a Hotel structure with (10+10) | CO2 BT3 2.1.3
data members Hotel name, Hotel id,
Location, Price_of accom. Create a structure
and display the information for 3 hotels..
b) What is Recursion? WAP to find the sum of oz B12 213
n numbers using recursion.
Q3 a) Consider two strings A[10]= "I am doing fine”. | (6+4+10) | CO3 BT3 213
and B[10]=" How are you doing”. Perform the
following operations using inbuilt functions of
strings.
i. Calculate the length of the two
strings. "
ii. Create a new string variable and
copy the data from string A.
iii. Compare string A and B and print
the comparative result.
CO1 BT3 213
b) Write a program to print the following pattern
*
ok
ok
dedk ek
e o e o
¢) Write an algorithm to search an element in an Co2 BT3 213
array using Linear Search. Also explain the steps
using an example. - T
Q4 a) Find the output: (4+6+10) | CO3 BT2 2.1.3
#include <stdio.h>
int main()
int a=10,b=20,%*p,s=0;
p=&a;
at+;
(*p)++:
s=a+b+*p;
printf(*a=%d, b=%d\n”, a,b);
printf("sum is %d\n",s);
return 0;
}
b)  What are Pointers? What are the benefits of Co3 BT2 141
using pointers? Explain with an example.
c) Why is call by reference method preferred over
call by value method in functions when swapping
two variables? Explain with a code to swap two CO3 BT2 1.4.1
numbers.
Q5 a) Explain any 5 different operations performed on (10+10) | co4 BT3 2.1.3
a file with the help of an example.
b) Write a program to add two matrices. Co2 BT3 2173
&

(23s)
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DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY
“End Semester Examination, December 2022

SEMESTER | I ' DATE OF EXAM | 19.01.2023 |
SUBJECT - Programming for Problem SUBJECT CODE = CSHI105B-T |
NAME - Solving using C | i |
BRANCH | BSc (Phy./Chem./ Maths) | SESSION | 1(9:00AM -
| | 12:00NOON)
TIME _ 3hrs _MAX.MARKS 100 |
PROGRAM | BSc (Phy./Chem./ Maths) | CREDITS 4 | |
NAME OF  Dr. Shalu ' NAME OF | DpaShalu , |
FACULTY j ' COURSE W |
' COORDINATOR | !

v

Note: All questions are compulsory.

Q1(a) | Using an example, demonstrate theo fundamertal | 2 C [ BTL 224
forms of control statements in C.

QI(t) | What are four stages of compiling a C Program? 2 C0o2 BT2 212

Ql(c) | Illustrate entry and exit loop statements in C with 2 CO1 BT2 3.1.2
example. _

QI(d) | Wrmte an algorithm to find out largest of three 2 CO2 BT2 3.1.2
numbers.

QI(e) | Find the output of the following code snippet: 2 CO2 BT3 3.1.2

void main(){ int a=125; printf("\n %d",a>>3);
printf{"\n %d".a<<3);

QI(f) | Give the output of the following C code: 2 CO4 BT3 224
main ()

float x=3.2, y=3.1;

switch (x>y)

casel:

printf (“ADOBE SOFTWARE");

break;

1
J
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[QI(s) [Differentiatc between 2 function declaration and| 2 | CO3 BT2 212
function prototyping with examples. :

QI(h) | What are the advantages of binary scarch over linear 2 CO4 BT2 3.1.2
search?
LQ I(i) | Differentiate between Pre and Post increment? 2 CO2 BT2 2.1.2
QI1() | Find the output of the following code snippet: 2 COl BT3 4.1.2
void main (){
intx =124,y =139 z = 145;
Z=Xty;
Y=z-y;
X=2Z-y:
printf ("\n%d %d %d", x, Y, Z);
1
{ —
Q2 a) Elucidate the importance of declaration in C | (10+10) | CO2 BT3 312
programming language. How declaration different
from initialization in C, Support your answer with
suitable example.
CO3 BT3 3.1.2
b) Write a program to find whether the string is
palindrome or not?
Q3 a) Differentiate between gets () and Scanf() along | ( 10+10) | CO2 BT2 3.1.2
with example ?
b) WAP to find n power m with the help if recursion co2 B3
Le.,n, m->p™
Q4 a) Explain the usage of the following string functions (10+10) | CO3 BT2 2.1.2
wich the help of suitable examples:
1. stremp()
ii. strepy()
iii. strlen()
b) Differentiate between Array and structure? Co4 BT 112
Q5 a) Check Whether a Number is Positive or Negative | (10+10) | CO3 BT3 1212
or Zero.
b) Write a program in C to Imput marks od student in co2 BT3 142
2 subjects, student is pass if marks in both subjects
are greater than 50 otherwise fail.
53
Za)
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"End Semester Examination, Jan’ -2023"

Semester: 1 Subject: Skill Enhancement- | HAMLE

Subject Code CDOSO1 Time: 60 Mins — sesvst b Db Dyfar ]
Roll N . . Max Marks: 50 Aranch MIA-DA
-
Instructions: All questions are compulsory. Facli guestion cartes multaple aptions,

No negative marking, Calculatar is not allowed, Answers are to be filled In the answer toble only,
Answers written outside the answer toble won't be considered,
Answer Table:

1 2 '}_3 la s B N ¢ N O X R
1 (12 (13 1a (15 (16 |15 (W |19 |2

21 2 |0 i 24 25 26 |27 28 2 |

1 32 |33 3 | 15 |36 |37 18 19 |40
a1 a2 1 a3 a2 (a5 a6 a7 |a8 |43 |50

1. Find the number of factors of 2507

A8 B 16 C.24 D. 32

2_Find the number of even factars of 3407

A8 B G c.4 n 2

3. Find the product of factors of 2807

A. 280" B, 280" C. ag0" D. 280"

4. Find the sum of factors of 40047

A 4004’ B, 5444 C. 9000 0. 9408

5. Find the number of prime factors of 21877

Al B.2 C.4 D.8

6. How many factors of 27 * 3* * 57 * g7 * 10° are multiples of 18?

A 496 B. 4E0 C. 405 D. 505

7. Find the sum of even lactors of 3707

A GBS B 456 C. 756 D. 750

8. Find the unit digit of 21°* * 784" * 582"}

A2 B.0O C.6 D&

9. Find the last digit of 554" * 983""'?

AB B.1 CG M3

10. Find the unit digit of (257%* « B81"™) * (323" + 445™)?

MO B.1 c.2 DA

11. Find the last digit of (276'" * 126™)?

AD B G C2 D1

12 What pereent of 50 are 907

A 125% A 150% C.175% 0, 180%

13 Il y exceeds ¢ by 125%, then x s less than y by ?

A, 44 44%, M. %5.5%% C, 66,60 D, 77.77 %

14, How much 75% of G0 s preater than 75%% ol J07?

A BO 0. 3in C. 50 D, 20

alb
b
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Vi How mu P B0 af 1480 1y eeater than 4% al nng

A. 4n o U . 12

T a4t af Parrbe s (e Phian GO o8 G50 by 190 Flvd e ouesler

A 1ho Io1nan € 1450 . 1440

1 W0 ol a oenlser Iy aidiled 1o PHEL the cesuld as thae s oarmbies 1o the ey Lo ¢
A. 510 I 40 € GHD [ 440

TH 50 1 subtractod Fromeny "0 ool nvaenaer, W cesualt o5 500 Find the noeplioe ¢

ALh0 o200 C, 250 L LA

VO WGl i thie Traction valum aof W 5%

A 219 (RVE €. 2/1 T

20 What |s the Tractinn value ol 11 A4%?

Ao 209 Ioagr C.5/7 0. Mone of thess

21 What is the fraction value ol 10, 76%7

foag . /4 C 37 [h 4713 ’

22 Two numbiors are respis tiveely 250 and A0%. miore than a thivd aumbier. The percentage that s first
of the segomd w7

A BRI A RS H5% C. B9 JEM, 0. 5770

23 The salary of a typlat was at Lirst ralved by 200 and then the same was reduced by 25%, 11 he
prevently drows P 540 What was his anginal salary?

A AN V. 600 C. 540 [, 750

24, Acandidate got 634 of the vates polled and he wan to his rival by AGED vates. How many votes were

cast?

A 165000 1, 18000 C 100 (1, 16000

25, A fruit seller had some apples. He sells G0% apples and still has 420 apples. Ongunally, he had:
AL 1000 . 1100 C 1050 (1, 1500

26, An engineering student has to seeure 35% marks to pass, He gets 118 marks and fails by 22 marks, ‘ .
The maximurm marks that can be obitaned by him ls?

A 300 iy, A0 C. 350 3. 500

27. W he cost price of 12 pens Is equal te the selling price of 8 pens, the gain percent s ?

A 12% a. 30% C. 50% D. 23%

28, A discount serles of 2000, 20% and 40% Is equal to a single discount al

A S0% B. 61.60% C.61% D, GG.BY

29. A shopkeeper allows a discount of 20% on an article and still makes a profit of 25%, What does he

pay far an article whose marked price (s THO07

A a9 B B C 512 0, 6A0 o
30. A shopkeeper purchased pens inbulk for Rs. 28 each He sald each for Rs.40. What was his profit

percentage?
A 14 28% i 7.14% C. 21.B%% D. A7.78%

31 Siva Reddy walked 2 km west af his house and then turned south covering 4 km, Finally, He moved 3
krm towards east and then again 1 km west, How far Is he from his inltial position?

A 10km B G km C. 2 km D akm
32. A tnan went 10 kms towads South. Then turned Cast and covered 10 ks and turmed to the right.

Again after 10 kms, he turned to left and covered 10 ks to reach the destination. How far is he from his

starting point?

A 1BE kM B. 2828 km C.16km 020 km . .
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33, Rajesh's school bus s facing North when reaches hisschaol After ttarting from fajesh’s house, it
tuming twice night and then left befare reaching the school, What direction the bus facing when it lely
the bus stop in front of Rajesh's house?

A Last B, Morth C. South 0. West

34 Anil wants to go the university, He starts from bis house which i in the Fast and comes to a crossing
The road to his left ends in 3 theatre, straight ahead [s the hospital In which direetion (s the University?

A Last B North £ South D West
35, 11 South-Last becomes North, North-Last becomes West and 10 on, what will West bocome?
A North B. Cast C. South-fast 0 North-Waesl

I6. A man walks 1 km towards Fast and then he turns to Sauth and walks 5 ke Apain he turns to East
and walks 2 km,after this he turns to Narth and walks 9 km MNow, how far s he from s starting point?
AL 10 km B 9km C.5km D dkm

37. L am tacing South, I turn right and walk 20 m Then | turn rght agaln and walk 10 m Then ! turn left
and walk 10 m and then turming right walk 20m. Then, 1 turn right again and walks 60 m. 1n which !
direction am | fram the starting point?

& North-Cast B. North-West C. North 0. West

38. Painting to a girl in the photagraph, Umesh said, "Her mother's brother is the only son of my
mother’s father.” How is the gul's mother related to Umesh?

A Mother B Sister C Aunt 0. Grandmother

39, X introduces ¥ saying "He 15 the husband pf the gronddaughter of the father of my father™. How Is ¥
related to X7

A. Brother B, Son C. Brother-dn-law 0. Nephew

40. Pointing to a woman, Manish said, "She s the doughter of the anly child of my grandmother.” How |5 .
the woman related to Manish? )
A Sister B Nieco C. Cousin 0. Data inadequate

41. Pointing to a person, a man said to a woman, "His mother is the anly daughter of your father.” How
was the woman related to the person?

A Aunt B Mother C. wife D, Daughter
42 K and L are brothers. M and N are sisters, K's son is N's brother, How is L related to M? ,
A Tather B. Brother C Grandfather 0. Uncle

43. Pointing to a person, Deepak said, "His only brother is the father of my daughter's father”.
How is the person related to Decpak?

A Father B. Grandfather C Uncle D. Brother-inlaw
44. Pointing to a photograph Anjali said, "He is the son of the anly san of my grandfather,”
How Is the man in the photograph related to Anjali?

A Brother B. Uncle C. Son D. Data Is Inatdequate

45. Amit said - "This girl Is the wife of the grandson of my mother”, How is Amit related to the pri?

A, Orother B. Grandlather C. Hushand 0. Father-in-law

46, f VICTORY is coded as YITWRUB, how can SUCCLSS be coded? '

A VEELIVY B. VEFFHWY C WYICHWY 0, WEFIvY )

47 In a certain code, TOGLTHER is written as ROEGRICT. In the same code, PAROLE will be written as S

A NCPOUG 8 NCOPIG C. RCPOUK 0 RCTOMNC

48 I BOMBAY is written as MYMYMY, how will TAMIL NADU be written?

A TIATIATIA B MNUMNUMNL C. IATIATIAT D ALDALDALD .

A I FRIEND 1y coded as HUMITE, how is CANDLE written in that code? .

A, EDRIAL i DCOHOK C. ESITME 0. FYonoc

50, In a code f COUNSCL Is coded as BITIRAK, how is GUIDANCE written?

A LOHYZKBD B FOHYZIRN C. FPHZZKAB D. HORYBIBA |
qwia - .

Mirector CDC

28

-
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“End Semester Examination, Jan" -2023"

Semester | Subject: Protessional Commumication-l NAME:
Subject Code: CIMOOS Time: 60 Mins Section
Branch Fducation AW CANM - e i) Roll No;

O - 24[o1fdr2?  Seswen- 1

Instructions: All questions are compulsory. Fach question carries multiple options. No
negative marking Calenlator s not allowed Answers are to be filled in the answer table

only, Answers written outside the answer table won't be considered,

Answer Table:

1 i T T P T — e e T
(12 J13 [u 15 T (v 18 (19 a0 |
L 22 23 |2 |5 6 W ITB___]_I_B__ |30
31 /32 |3 34 35 |36 3 38 (39 |40
(@ (& [« J:s_ 96 [ Jas e  [s0

Q1. The language is well known for being the language of international
communication in the world.

A) English B] Spanish C] French D] German

Q2. Learning English will be invaluable in both your and professional lives,
A] Formal B| Personal C] General D] Public

Q3. 15 a term exclusive to Enplish Spoken by a particular locality,

Al Indiarmsm B] Neutral C] Localism 0] Hinglish

Q4. Localism refers to the way a sentence has been structured as if it was literally
from a local language,

Al taken B] Spoken C] used D] translated

Q5. What is your name? This is a typical thoughtless translation from Hindi =
Aap ka shubh naam kya hai?

A) pood B] bad C] uply D] beautiful

G6. When one completes one’s degree at an educational institution, they from
that institution, you do not, "pass out” from that institution,

L] master's i) praduate C|tenth D] High schoal 9
07. Birth and Berth is a classic example of .
L) antanyms B] synonyms C) homaophones 0] localism

GA. Wards that have same pranunciation, but different spelling and different meanings are
called

A harnaphenes | antonyms C] synonyms 0] homographs

Q9 Which of the sentence |5 comect.
Al Arnay likes ta rap, nap and eating snacks, 0] Arnav likes raping, nap and snacking,
C] Arnav likes ta rap, nap and snack D] Arnav likes to rap, napping and eat snacks,

Q10. Parallelism js used with elements in lists o in a Cbor exampile, This task can
be done individually, in pairs, or in groups of four,
A) series O] disorder C) programme 0] sitcom

A
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11. Paralle
:1 " arallg ||5r1'| 5 used with ".‘II"I'I"Il":I'I.'h Imﬁf‘d h‘f wortds. For p-h.‘llﬂlﬂli. the
eacher w; : T iy
rrwants his students not anly to keep quiet but also to dn the task

A] joining B) linking €] faulty 0] difficult
QI?. Tﬂﬁﬂﬂfﬂnicﬂl [[rnr 15 the error U', I3 " Itis the ¢rror anIITiHE the same
thing twice,

A] redundancy B repeating C] important D] multiple

Ql13. A — isaword, phrase, or clause that adds detail or description to a
sentence,

A] order B] modifiar C] altar D] static
Q14. Words, phrases, or clauses that are "out of place” are often called
modifiers.

Al not in place B| in place €] misplaced D] disorder
Q15. Comparisons should be made between two things.

Al different B] not in order C] inapproptiate 0] similar

Q16. Few is used before the nouns while less is used before the uncountable

nouns.

A] numbered B] countable C] plenty D] scanty

Q17. Collective nouns usually take a verb,

A] singular B] plural C] definite D] indefinite -
Q18. Two infinitives separated by and take a form. .

A] singular B] plural C] definite 0] indefinite

Q19. Titles of books, , novels, etc. are treated as singular.

A] documentaries B] pictures C] movies D] animation

Q20. All of the chickens laid eggs.

Al some B] have C] has D] many

Q21. Only affects the verb.

A subject B] predicate C] noun D] pronoun

Q22. The word Tense is derived from Latin word “tempus” which means

A] space B) time C] place D] thing

Q23. Janet lived abroad for five years,

A] have B] has Clis D] if

Q24. Word Classes the ways in which a word can be used in grammar.

A] paraphrase B] describe C] summarize D] elaborate

Q25. There are ____ major word classes.

Al S B] 6 c]7 D)8

Q26. There are nouns for things that don't physically exist are called nouns,

A) abstract B] proper C] common D] countable

Q27. The werds that describe nouns and tell you more about them is called . _ _
A] adverb B adjective C) pronoun D] verb o
Q28. Verbs describe :

A] action B] reaction C] in action D] no action

Q29. The person or thing that does the action of the verb is the . It always

comes befare the verb.
A] werh B] adverb C] subject D] predicate

030, Adverbs tell you how, when, where and how a thing is done. Adverbs are
mostly connected to verhs

A) often B lew C] more D] many
Q31. Adverbs can be categorired Into manner, and place.
A] money B) space C]time D] speed

| — il
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Q32. Words used Instead of 3 noun

are called o
Alverh N

0] adverh €| adjective 0] pronaun

Q33. We use prepositions 1o show how different relate ta each otherina
Lentence B

AI noun B] verh ':l adverh |1r conjunt tons
Q34 The children are playing with a ball___ the yard.
Alon B in C] at D] to

Q35. Some sentences are simple and give one idea. To join more than one idea together in

the same sentence, we use to link the (deas

Al interjections B) prepositions C) conjunctions D] pronouns

Q36. An is a single word that expresses a thought or feeling.

Al conjunction B] pronouns C] preposition 0] interjections

Q37. Attitude changes )

Al something B] few things C] nothing D) everything

Q38. Cognitive, and behaviour are the 3 companents of attitude.

Al emotional B8] spiritual C| Intellectual 0] physical

Q39. Attitude is a human trait and is an inbarn attribute,

A emotion B] behaviour €] physical D] psychological

Q40. There are types of attitudes.

AlS B] 4 C)3 D] 2

Qal. behaviour helps maintain positive inter- personal relationships.

Al polite B] angry C] alfensive D] rude

Q42 Learn to respect other's time. Use language.

A] negative B] appropriate C| unsuitable D] not good

Q43 Social intelligence includes reading cues,

A] non verbal B| spoken C| talking D] ignoring

QA4. Tact, timing, and trust describe intelligence.

A) spiritual 8] commoen C] emotional D] special

Q45. Saying thank you, please, speaking positively about others, belng a good listener and “
often, contribute to social grace.

A gossiping B] whining C| rude D] smiling

046, High quality work relations, job satisfaction, job performance, arganizational
commitments are all outcomes of

Al inclusion B] exclusion C] diversity D] integrity

Q47. harassment is where the person is subjected to annoying behaviour
while warking.

A] party B personal C] public D] workplace

048, Gender refers to inequality between people of opposite gender,
Al inclusion B] discrimination C] acceptance D] behaviour

049, Is ane of the biggest challenges for physically challenged people,
A] problem B] help C| stercotyping D) simple

as0. Influences results,

Al tired B nepative C| thought D] mindset

-\ ¢
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Carcer Development Centre
"End Semester Examination, Jan' - 2023

Semester |

: Subject: Prolessional Cominsunication-) SNAMI
Subject Uonle o 1Majne Time 60 Mans .
Branch Engncening May Marks &0 Roll Noo -
Ceeprn L Lt Juje]deat

Instrictiony: Al questions are o sors

amywer tahle won''t be considered,

Amvwer Table:

1 [2 T3 [a IE [6 "7

(11 [12 [13 14 |15 |16 17 18

1 12 133 20 |25 [ | m
31 132 1338 |3« 135 (3 (37 |3

a1 22 (a3 as as }45 | a7 a8

1. How a person thinks o feely about somethung is called his

A Behavior B At tude Courteqwy

2. Feelings, sentimens and moods of emations are represented by which companent of attitude ?
C. Emotionalf Atfective 0 None of these

A Cognitive B Behavioral
3. Factors aHecting the formation of atttude are:
A Intellrctual development B. Social Development
4. The prediapoution that results in desirable outcomes for individuals and Or panatins

A _Attitude B Pouitive Artitude C Negative Artitude
5. The farmation of attitudes due to obiervance to one's own self is called

A [rposure

6. Cognitive Dissonance is:
A Sell-Perception

B. Associative Learning C Sell-Perception

B Change via imternal diserepancy C Persuaslon

Iach dileslion CAFTIcs !rll||1l|'1r1:' options. Mo nepative markimg
Calculator is not allowed Anvwers are to b filled in the answer table onfy, Answers written outside the

19 20
29 30
33 a0
49 | 50

D. Chivalry

C. Cthical development 0. Al of theye

0. None of thays

D Functional reasons

D None of these

7 Showing pood behavior, actions, and manners when one communicates while dealing with people 15 called

A Courtewy B Mannern

C Behavior

0 Arnirude

8.The degres to which an employee s actepted and treated as an insader by others in a work wyslem i called

A Courtesy B Diversily
9, Outcomes ol inclusion are:

A Improved work relations B Job satstaction C. Both of theye

10. The tupgest barner for people with disabilityg 14 how the society disables them by way of

A Disabeility desecrrmination B Cender [ virmination € Sesual Harassment
11, BEuliging, mappropnate promise of rewards in eachange of sesual favors i called

A Disatslity discoirmination B Goender [hat riminataon C Senual Harassment
12. The dicsd appropriate 1o wear frat interview of loe o professional wor bk snvionment is

A Party wear IS pur Ty e ar

13, Bect color lar trouters 10 wear 0 anntervirs wilid he

A While N Hawy Blue

14, The LGETO indreiduals Tace a rurmbier aof challenges biocause of

A Family erpectations I fesrial Sripma

€ Inclusion

L Formal wear
CooLigm Green

C [sewimiation

D Chivalry

D None of these

[ Racial Disriminat ion

0 Racial Discrimination

0 Cawal wear
0 Purple

1 AN of theae

g
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18, Professional behavior at workp)
A Cwility I !.-“”rhul‘l
16-Direction Prad the Yokl g e o

aee ind luidies

{ Serdal praee 0 Al el theye

Brr #
e s ek gt ”m- l”“jll[:,--m.’ part i i el ther & Miowad) Ficef & FrEFri
Jwant Lo putsye my areer in divert .

Ing
L ! (VLA TTT, [ rafeer D sdvertisernent
12-Direction Bead the following wentpne e and pick oul the gnderined part which s neither a Houe soe s Adjective
The pringspal always bhelped the needy  studenty
A prhndipal B helppd C needy 1 students
18-2001rection: Read the tollowing sentence and thoone the correct nptinn as to which parts of tpeech the yr derhined
waord iW?
18 He s the tanof cricke?
A Adverh B. Pronoun C Preposition D, Verh
19 Fruits and vegetables are pood for health
A Verb B Advert C Interjaction U, Frapoyition
20. The student wrpte an application 1o his teacher
A Adverb B Noun C. Pronoun 0. Verd

21-25 Direction: Choose the cotrect form ol tenses from the optiong glven below

21.1 working all atternoon and have Just finished the assignment
A have been

fH had bieen €. shall b 0. am
22. Rohan the mowie belore he rpad the review
A watches A. have watched C. had watched D. was watching
23 He in the States but he still does not have a cormmand over the English languape
A have been living B. has been living C have lived 0. lwng
24 “Shyam and hes brothers™ a famous sweet shop in out neighbourhasd.
A are O have been C.is 0. have
25. You should not the worst
A assumed B. assuming C. aviume D. assumes
26-30 Directlon: Choose the correct larm af Verbs Tram the options given below,
16 The teacher completed this chapter.
A have B has C.is 0 are
27 Ram and Shyam Business partners,
A have B has C are 0. had
8 She her office by 9 a.m daily
A reach B reaches C. reached D. reaching
29 Rahul and his friends _ also inwited to the party, '
A is B wal C. had 0. were
30 Neither you nor your sistershould _ tothem
A talk B talks Ctalked D talking

11-32 Decide whether the sentence bas paralielism or not?
31 She deaded o leave hee o and vavelling the worlid,

A, Parallel B M Parallel C. Can't say B None of these
12 He staned the engine, reloased the band break, and olokoed the mirore ,
& Parallel B Mot Parallel CoCan't say 0. None of these

13- 340 ar) the following questions anid cheose Wie coreect optiang Do e aptions glven below
A W hic b ol the Tallowing sentend e by cored)?

A Wa ke playing Ludo, carromes, and chess

€. Wa likes to play Lude, carroms, and playing chess
34, Amnal hias

A acar, alike, and aryile,

BN Whes pliaying Lo, play carroms, and 1o play chesy
0 A ks playing Vudn, carroms, and play chess

Boacar abike, and she has a eycle.

C.oacar antd abike, and the has a cycle, 13 Mone of the abiove,
15 Ira peesup Alseussion ane st rormminieate with
A Hostiliny I dgneranie € Courtewy

I Arrogance

DU PR P T T W 7 - - —— —— e —— —
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16, Whith of these must be avolded in a group discussion?

A Speaking Facts B, Counter questinning C Speaking with clanty 0. Speaking on the topie
37. In a group discussion a person who begins the discussion s called I
A, Initiator 0. Starter C. Bepinner D) Moderator

18 In recruitment, Group Discussion is used as a tool of:

A, Presentation B Warkshop C. Lecture 0. Ehimination

39 Which of the following is Incorrect way to initlate your selfntroduction?

A lam B, My name s C. Mysell 0. Nane of these

A0, What is Self- introduction?

A, Your one minute self-sales pitch for the interviewer i, Your personality description

C. Descniption of daily routine 0, Description af farmily information

a1 Which of the following greeting s inappropriate in formal introduction ?

A Hello B, Good Morning C. Hey, What's up? D. None of the abave
42, Which of the following CANNOT be considered as a good telephanic eliguette?

A Speak slowly so as to be understood B Liston to what other person has to say

C. Talking loudly if you are unable 1o hear the other speaker 0 Cnd the call with a polite Good bye ar Thank You
43, The most appropriate grooming tip for an interview should include:

A, Take care of the body odor R. Display of tattoos ta give contemporary look
C. The arms of the shirt should be folded 0, None of the above
44, What do vou do if you find someone not able to speak in a GDY
A, Utilze this opportunity to continue B, Invite the person to put forward hisfher views
C, Make fun of the person D. All of the above '
45, A& well-crafted and well practiced Self Introduction helps you 1o
A Present your first answer with poise and confidence. B. Do away with fillers like umm, well, | guess etc.
C. 5et a strong foundation for the rest of the interview. D. Al of the above
46. Thie third branch of phonetics apart from articulatory, acoustics 15
A. Resounding Phonetics f. Auditory Phonetics
' C. Assimilatory Phonetics D. None of them
47. “Tell me something about yoursel{” should be answered with !
A. Telling about your strengths anly B. Talking about your areas of improvement

' C. Talking briefly about your education, Industrial tralning, co-curricular activities, and work experience
D. None of the above.

| 48, Variation in a language done by native speaker of the language is called

A- Diaiect & Agcent C. Tone 0. Mone of these
| 49 Variation in a lanpuage by non -nattve speaker of the language (s called

&, Accent . Dialect C Tone 0. None of these

50. Impure vawels are called

A. Diphthonps B. Manaphthongs C. Dath of them

|
i
i
i
}
)

0. Nane of them

E\. ‘I."'ft L
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Career Development Centre
“End Semester Examination, Dec'-2022"

Semester 1 Subyect Professional competency 1 nhancement-| NAMI
Subjeat Code: OO0

Toime il %4 Holl Ny
Max Marks S0

£1 2 ))3]a.33 Seanwn, Bromch CST METFCT

!I"“‘Iﬂ'ﬂﬂl‘l\: Al Jueshions arge t'l'!11'|"|l]l.|"1 W |. i1-|.!"| Wuestion carries r'|||;||’|r\'1: Ili""llllh. bt 1] ||_rk-.|1‘|'. £ rmark ng

Caleulator s not allowed, Answers are 1o be filled in the anmvwer fuble only, Answers written outvide the amiwer
rable won't be considered,

Answoer Table:

11 {2 I3 [ T R I O .
11 12 (13 Jaa |15 16 (17 |w |19 20 |
120 (22 |23 12a__ |25 2 _]_z_?_us_ (29 T30
31 ;2 w3 (3 % B Y E N
@ a2 o _J!:* ~as as a7 las (a9 s0

Q1 There are 36 boys and 44 girls in a class. The average score of boys is 40 points and girls (s 35 paints.
Then what will be the averape score of the class?

A) 37.25 B) 225 C]52.85 D]65.78

Q2. The average of 15 numbers is 15, If the average of first five numbers is 14 and that of other 9 numbers,
it 16, then find the middle number,

A9 BJ11 C|7 011

(3 The average age of five members is 27. I one of them is excluded the average decreases by 2 The age
of excluded person (s:

A& 20 B]25 C]is D)as

Q4 What is the largest 4 digit number exactly divisible by 887

£]9944 B] 9956 €] 2000 0] 9955 '
G5 Whach ane ol the following can'y be the square of a natural number?

A) 128245 i) 124248 C]12H24) 0] 128244

05 In an election between two candidates, ane got 5%% of the total valid votes, 20% of the voles were

invalid I the total number of votes was 7500, the number of valid vates that the other candidate got,
Wl

A) 2704 B] 2900 €] 3000 0] 5000
0O7F oy many tattors of 1080 are perlect squares?
Al 4 ¥, CJy D)6

QE. A student has 1o obtain 33% of the tatal marks to pass. Mo got 12% marks and falled by 40 marks. The
magimurm marks are

A 500 1] 150 C]5%0 RIHR
09, The sum ol a seriey, 276 300850 162 10 1512 What is the number of termy in the serles?
Al 11 )12 oo

S
ni,\
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Q10 1 the product and H.CF. of two numbers are 4107 and 37 respectively, then find the greater
number

Al B] 135 C]150 D] 170

Q11 Pointing to a person, a man said to a woman, "His mather is the only daughter of your father” Hod
was the woman related to the person ?

AlUncle

BlAunt ClFather DiMaother
Q12. 1 Ranveer Singh finds that he is 13th from the right in a line of bays and 8th from the left, how many
boys should be included in the line such that there are 30 boys in the line?

Al10 BJ19 )12 DJ14

Q13 Krishna ranked sixteenth from the top and twenty ninth from the bottorm ameong those who passed

an examination. Six boys did not participate in the competition and five failed in it. How many boys were
there in the class?

Alag B|55 C]65 DJ51

Q14. One morming after sunrise, Suresh was standing facing a pole. The shadow of the pole fell exactly to
his right. To which direction was he facing?

AlSouth B]|North C|East

Q15. Find the logarithm of 144 to the base 2v3
Al8 8]9

Q16. The unit digit in the product (784 x 618 x 917 x 463)is
A) 2 B3 Ccl4 D]S
Q17. Find the number of factors 0f 93217
AlB B) S )7 D] 3
Q18. K is 40 m South-West of L. If M is 40 m South-East of L, then M is in which direction of K?

A] South B] East C] North D] West !

Q19. G is the grandfather of S. B has only two sons E and F. A and B are the only sons of G. Who is the
father of 57

Al A

DjWest

cl6 DJa

B] B Clt DIF
Q20. If Ais the brother of B; B is the sister of C; and C is the father of D, how D is related to A?
A] Can’t be determined B] Sister C] Uncle D] Aunt

Q21 During assembly the students are standing in a line, Salman Khan is 21st in order from both the
ends, How many boys are there in the class?
A 40 B] 41 C] 44

D] 45
Q22.1f Rocky finds that he is 31st from the right in a line of boys and 8th from the left, how many boys
should be included in the line such that there are 60 boys in the line?
Al7 8] a8 c]20 D] 12
Q23. How many 4's are there preceded by 7 but not followed by 17

5932174269746132874138325674395820187463

&) Four B) Six C] Two D] One

Q24 Maw many such pairs of digits are there in the number 421579368 each of which has as many digits
between them in the number as when they are arranged in ascending arder?

A One B] Three C] Two D] Six

Q25. In a class of 50 students M is eighth from top. 1 is 20th from bottom. How many students are the
between M and WP

A] 18

i

) 20

an D) 22

b
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Q26 Find the sum of the first 10 numbers of this atithmetic wenes: 1, 11, 21, 31,

Al s00 8] 480 €] 420 0] 460
Q271 111h term 15 47 and first term 14 7. What is cormmon differenc e between them ?
Al 3 B4 |3 0] 2

Q28. The sum of the first 3termsin an AP is 6 and that of the last 3 terms is 16, 1 the AP has a total of 13
terms, what is the sum of the middle three terms?

Al 11 8]10 cl8 D9

Q29. Priya cycles 5 km North, then turns Last and cycles 4 km, then turns South and cytles 5 km, then
turns ta her right and cycles 6 km, Where is she now with reference ta her starting position?

A] 2 km East B] 2 km West C]10 km West 3] 10 ken East

Q30 A man walks S km toward south and then turns to the right After walking 3 km he turns to the left
and walks 4 km. And then he Foes back 10 km straght. Now in which direction is he from the starting
plage ?

A North-West B] South €] East 0] West '
a3l invalves the development of action plan designed In order to motivate and guide a
persan or group towards a goa!

A] Decision B] Goal Setting Cl5elf-awareness D] Hard work

Q32 Locke and Latham's Goal setting theory includes clarity, challenge, commitment, feedback and

Al Complexity B| Simplicity €] Difficulty O] Problem
Q33 SMART goals abbreviation stands for specific, measurable, achievable, realistic and :
Al time framed B] nme limit C] target date D] time bound
Q34 if there are no there is no progress.

Al dare Bl difficulties C] challenges D] problems
Q35. ¥nowing 15 the beginning of all wisdom,

A) yourself B| athers L] himself D] herself

Q36. Body's reaction to a change that requires a physical, mental or emational adjustment or response s !
called

A] tension B8] strain C] stress D] trauma

Q37. Fear, anger, loneliness, worry are some of the symptoms of stress,

&] Cognitve B] Physical C] Behavinral D] Ematianal

(138 stress enables concentration, increases performance and it Energires you.

A] distress B] eustress Cl neutral 0| good !
Q135 In ABC strategy A stands for awareness, B s for Balance and C s lor .

] control B] command L] change 0] charge

Q40. “If your does not include yoursell, it is incomplete”. Jack Kornfield

Al care B| concern C] compassion D] ermpathy

Q41. Negative stress results in reduced effectiveness, loss of mativatian, and mental
problems and behavioral problems

4] physical B] emational C] cognitive D] spiritual

042 Right frame of mind, right technique and night contributes to managing time better,
A) motration B] a volition C] sucersslul 0] distraction

043 Managing time better increases effectiveness and .

A| efficiency B] order Cl planning D] productivity
Q44. Perfectionism, insecunty, clutter, being unorganized could be the reasons lor

4| delaying tactics B] stalling Cl procrastination D) dragging

rgﬁ
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045, Persan
v G 2l a
‘N2l approach to handling time could he developing a positive attitude, ownership for time loss

and arming for
.

Al e 2l s "
qf:r_,lff;.:;ﬁ:‘ B] supremacy C] mern D] perfectian
p : Etime in a better way helps reducing stress and increases !
;;{:?"3'3“'-"‘-"( B| problem C] tl.;‘r.'ru_-? D] stress
Al -m,_; Is the first stage of team formation.
O:’:;‘L 'HulmlriimTv to others” ThE] n?:mlrilﬁ €] forming pIRSHSATEIR
Wi tners ., is the English translation of which ancient Alrican word ?
B| hakuna matata CJ swahi D] zulu

Q49 '
. Building bond, creating understanding, trust, resalving canflict, overcoming obstacles, achieving
Erowth together can be termed as 2

Al distance 8] team C) class D] troupe
Q50. Ubuntu means there is no ME without ,
Al you B] her C] him D] them

et
E,v." Director CDC

Scanned with CamScanner



Y MANAVY RACHNA

/7 hwdgonabartisag!

 MANAV RACHNA
'UNIVERSITYAA

| Drclored as State Private Univarsity vide Haryanc Ac 26 of 2014

DEPARTMENT OF Computer Science and Technology
“End Term Examination, December-2022"

(319 3-24

SEMESTER 111 ' DATE OF EXAM

SUBJECT - Data Structures and ' SUBJECT CODE | CSH103B-T

NAME _Algorithms o B

BRANCH CSTI, CDA, AIML SESSION 1,

TIME  Esa _ MAX. MARKS 100

PROGRAM _B. Tech | CREDITS 5

NAME OF Dr. Hanu Bharadwayj, NAME OF Dr. Harsh Bhasin

FACULTY ' Ms. Meena, Dr. Harsh | COURSE - XV
Bhasin COORDINATOR N

L7

Note: All questions are compulsory

Q.NO.

_QUESTIONS

- €O | BLOOM'S

Pl

V-L4vd

104)

The details of employees of Manav Rachna

.| University are to be maintained. However,

some people may leave and some may join in
the near future. You have been asked to
suggest a data structure to store the records.
What would you suggest: Arrays or linked

" lists?

N
i

BT2

1(8)

An array of length n is given to you. How will

.| you need to insert an element at the second

last position of this array? What is the

| complexity of this process? If instead of array, a

linked list was given, what would have been
the complexity? -

Co1

]
1§}

BT3

1(C)

| A sorted array is given to you and you need to

search an element in the array. Suggest an

| algorithm to accomplish the task. What is the

complexity of this algorithm?

BT3

| 1)

Can you modify the above process to search an
element from a given matrix?

Co1

12
i

BT3

1(E)

You are given a set of cards numbered 1 to 100.
How will you sort them? State the complexity

of the algorithm.

co

]
[

BT?2

Lk o k]

1/
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a Lavd

208)

|| algorithm.

Write an algorithm to search an element from
a singly lined list. Write the complexity of the

Cco

BT2

| write an algorithm to insert an element at the

a) beginning and b) end of a doubly inked list.

CO

BT2

2(B).

- .| expression to post-fix.

a) Write an algorithm to convert a given infix

b) Convert the following expression to pre-fix
and show each step:

((a+h) * (c-d))/e

20

Co

BT3

[ 8]
~J

| @) Write an algorithm to implement two stacks

using an array.
b) Write an algorithm to implement doubly
ended queue using linked lists.

20

Cco

BT2

tJ
)

| traversal of the following tree.

| following numbers:

a) Write the inorder, preorder and post order

b) Create an Binary Search Tree from the

3,5,1,7,8,2,90,21,56,45
i) Delete 7 from the above tree.
i) Insert 91 to the above tree.

20

Co

BT2, BT3

1
v

'--?;(AJ' '

: .'4'[3)" .

| a)What is the adjacency representation of the

following graph.

b) Write algorithm for the Breadth First Search
of the above graph.

20

co

BT2

212

eofe ok ok e ok
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- 'MANAV RACHNA
AvieEseys  UNIVERSITY A

Deciared os Siete Prvgte University vide Maryona Act 26 of 2013

DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY
“End Semester Examination, December 2022"

SEMESTER Hi ~_DATE OF EXAM 17/12/2022
SUBJECT NAME  OOPS USING JAVA SUBJECT CODE CSH201B-T "
BRANCH @~ CSE SESSION | Morning |
TIME  9.00AM-12.00nocon  MAX.MARKS | 100
'| PROGRAM _B. Tech. CSE _CREDITS 1.8
NAME OF CSE3A: Dr. Shalu NAME OF COURSE | Mr. Ram Chatterjee R
FACULTY CSE3B&C: COORDINATOR A\
| i Mr. Ram Chatterjee \ Wr‘/
Note: AH questions are compulsory. v
J
- Mar |29 |B100 -
QUESTIONS KS ADDRESS M'S PI
' . ' ED" | IEvE |
L
Q1. Answer the following in short. '
v a) How the Java String differs from the C String? ! col BTI 14.]
b) Dcmqns’tmtc the . relationship ] ‘lbctween | Col BT 14
o associalion, aggregation and composition?
9 How do we parameterize a constructor? | Col BTI 1.4.1
d) Whal does this keyword symbolize? | COl BTI 4.1
|<I v
= €) Why multiple Inheritance is restricted in java? 1 col BTI 1.4.1
2
(=) 0 Why java main method is static? 1 Col BTI 1.4.1
g) When automatic type conversion ‘takes' place in _
java? | Col BTI 1.4.]
h) }Vh_al are the differences between static and non- | col BT 141
static nested classes?
i) Differentiate between Identifier and Literal in
- java. 1 CO1 BT! 1.4.1
1§ How would you access package f‘rom another . BTI
Ao il I col L4.1
ok ot s

—
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PART-B

| Q2@

Demonstrate  via figures different type of
inheritance supported by Java,

coz

BT2

ol
(%)

Q2(B)

Write the correct version of the given code by |

mentioning the error in the code:
interface A {

A

void mi();

!

public abstract class B implements A

public void m1()4
System.out.println("QOne"); }}

wh

cO2

9

PART-C '

3

Q3(A)

Explain SOLID design principle.

1)

Co3

BT3

- Q3(B)

Brief the Java exception handling mechanism.
Write a java program that handles the 1/0 (one
divided by zero) exceprion.

10

BT3

Q3(C)

Write the code given below with correct logic &
syntax by filling in the blanks and underline the
Sme 10 your answer:

__javaio®;

class Main |

/! declareing the type of exception
public static  void findFile()
IOException {

¢! code that may generate [OException
File newFile = File("test.txt");
FileInputStream stream = new
FilelnputSiream( )
¢

public static void main(String[] args)
try {
findFile();

1
1

cateh ( e}

System.out.printlnfe);

[2Y}

CO3

BT3

Led

. Q3(D)

Explain the design pattern would you apply
while designing a code on shared database for
1/Q7

COs3

BT3

PART-D

Q4(A)

Demonstrate thread life cycle with self-
explanatory diagram including thread methods.
Wrile a java program to set the priority of
thread.

COo3

Wrile a program in Java that will read the
tollowing vontent from the iile “fl.txt™ and write
Lthe same confent in another file pamed “{2.txt”,

CO3

Q4(B)

| os@)

Differentiate between the following
a) FileReader Class and FileWriter Class
b) InputStreamReaderClass and
OutputStreamWriter Class

Co3

B12

Q5(B)

What are 10 Exceptions? Describe briefly lour

fundamental I/O-related Exceptions.

10

CO3

BT2

o+
1~
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J‘ Declored as State Private University vide Haryana Aot 26 of 2014

DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY
“End Term Examination, December-2022"

SEMESTER __ 3%%/5™ ._DATE OF EXAM _ 19/12/2022
SUBJECT Analysis & Design of Algorithms =~ SUBJECT CODE = CSH204B-T
NAME l |
BRANCH . Computer Science & Engineering = SESSION I
(CSE)AIML | '
TIME | 9 AM - 12 Noon | MAX.MARKS | 100
PROGRAM | B.Tech CREDITS 5 |
NAME OF Dr. Susmita NAME OF - Mr. Anup Singh |
FACULTY  Ray,DRHARSHMSPRIYANKA COURSE - Kushwaha Llr _
: _COORDINATOR Y \

Note: Attempt all questions. WA
- ; _ CoOR| s
- Q.NO. QUESTIONS MARKS ESSE | M'S PI
_ ity D sy
| PART A

BT1,
WO . , BT2
| 1(A) | What is the complexity of Radix Sort Algorithm? Which co2
:' sorting algorithm is used by Radix Sort? 2.1.3
i . BT3
LT Bucket Sort uses Insertion Sort. Is the complexity of CO4

1(B) [ Bucket Sort Algorithm same as Insertion Sort or not?
| | Justify your answer. 2.2.3
f What is the time complexity of the following pseudocode
i of an algorithm? BI3
[ C CO4
| p=0 223
1) for(i=1, i<n, i=i*2) -
R {p+;}
[t for G=1, j<p, j*2)
I i {statement s;}
i . Name 2 sorting algorithms which uses Divide & Conquer BT2 .
- 1(D) . | Approach? Co1
' 2.1.3
F ek ok ok ok
Y
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— [ Whichare the fourdifferent approaches for solving
)| Recurrence Relations?

coz

BT1

2.1.3

PART B

Explain Divide and Conquer strategy with an example.
Write the algorithm of Merge Sort and derive its
complexity.

Coz2

BT2
213

3 Use Merge Sort algorithm to sort the following set of

numbers. Trace all steps of execution of sorting algorithm:

60, 23, 38, 76, 49, 14, 88, 57

COo3

BT3

2.23

PART C

. [ formulate

Write the Activity Selection Algorithm and find its
complexity. Name the algorithm design strategy used to
this algorithm.
Apply Activity Selection Algorithm for finding two
sequences of sequencing activities with start and finish
times as provided in the table below:

I |1 ]2/3]4]5]6 7 18 19
Sill]2]4]1]5]8 9 11 |13
Fil4 [5]7]8 |9 10 |11(14 |16

Marks
Breakup:(
2+1+2)

Co1,
€0z,
Co3

BT2,
BT2,
BT3

2.1.3,
223

T R I T S R e e e e
> T fate > Lt
5 . F i -
¥

e s T
i 7 Sl

| find its complexity. Name the

Write the Job Sequencing with Deadline Algorithm and
algorithm design strategy
used to formulate this algorithm.

Apply Job sequencing with Deadline algorithm for

| scheduling the jobs with specified deadline as given in the

following table. Show step by step approach of obtaining

I. the problem solution. Also compute the maximum profit.

INDEX 1 2 3 (4 |5

JOB it ]2 (33 |54 |js

DEADLINE |2 1 3 12 |1

PROFIT 60 | 100 {20 [40 |20

Marks
Breakup:(
2+1+2)

Co1,
coz,
Co3

BTZ,
BT2,BT

213,
2.2.3

ook sk o ook ok
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Co1,
6 Co4 BT2,
Explain briefly Minimum Cost Spanning tree with an example. Write BTZ,BT‘* 2.1.3
- | Prim’s Algorithm to generate MST for any weighted graph. Analyze the : :
4 BT3
co3
2.2.3
5
Explain briefly the Dynamic Programming strategy of designing algorithm. co1
- | Write the Algorithm of Matrix Chain Multiplication using Dynamic Sia
| Programming strategy. .
& BT2, '
BT2
'5 BT4
€03
223
Use Dynamic Programming method to multiply the chain of 3 Matrices
& namely Al, A2, A3. Following are the dimensions of the matrices :
Al:[2x3]
A2:[3x4]
A3:[4x2]
| To obtain M = Al x A2 x A3 find out the cost of computation of
multiplication of this Matrix Chain and the order in which the matrices
| need to be multiplied together. Show computation of ‘all cells of the cost
computation matrix and all cells of the matrix which stores optimal
parenthesization (/sequence) of matrix chain multiplication.
4 Co1,
coz2 BT2
Explain with example optimal binary search tree 2.1.3
Find the Optimal Binary Search Tree for the following set of keys and 6 Co3,., | BT3, 223
search frequencies using Dynamic Programming method for successful COo4 BT4 o
|| search only
LR T ESE
17
s
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Iviclyenaterismhe
| Daclarad es State Private University vide Haryeno Ad 26 of 2014

DEPARTMENT OF MATHEMATICS
“End Term Examination, December-2022" .
e

| SEMESTER | __DATE OFEXAM _ 12122022 |
SUBJECT NAME Probability and SUBJECT CODE MAH-202 B-T ]
S ~ Statistics |
. BRANCH  CSTIHCDA _ SESSION ) 1 |
| CTIME  9:00AM-12:00Noon MAX. MARKS 100 ‘
| BSeBEd ~ BTech _ CREDITS 04 B
| NAME OF Ms Seema Aggarwal = NAME OF COURSE  Ms Seema Aggarwal |
[ FACULTY B | COORDINATOR YN tharassAs—

Note: All questions are compulsory.

Q.NO. s QUESTIONS =~ . . . b
The incidence of occupational disease in an industry is such that ;
1(a) | the workers have a 20% chance of suffering from it. What is the 1.1.2,
o probability that out of six workers chosen at random,four or more CO 2.1.3
2 will suffer_from the disease? 5| 1 |BT2| 44
=
> Suppose a book of 5835 pages contain 43 typographical errors.If
1(b) | these errors are randomly distributed throughout the book,what is 1.1.2,
the probability that 10 pages selected at random ,will be free from CO 2.1.3
errors? 5 2 | BT2 | 44.1
An aptitude test is conducted on 1000 candidates.The average @
score is 42 and the standard deviation score is 24. Assuming 1
normal distributions for the scores,find CO N
:;_i 28 (i) the number of candidates whose score exceeds 60, ’ ? 2 813 iii
5 (ii) the number of candidates whose score lies between 30 and o
. 60
i X and Y are two random \variable having joint density function 11.2
flx,y) = -237- (2x + y), where x and y can assume only integer CO ;)'_1"3’
2(b) | values 0,1,2. Find conditional distribution of ¥ for X =x. 5 2 |BT3 | 4.4.1
— In an examination of 675 candidates the examiner supplied the
% following information:
e Marks No.of Marks No.of
a Obtained Candidates Obtained Candidates
Less than 10% | 7 Less than 50% | 381
Less than 20% | 39 Less than 60% | 545
Less than 30% | 95 Less than 70% | 631 :
Less than 40% | 201 Less than 80% | 675 1.1.2,
Calculate first quartile Q1 and third quartile Q3 of the CO 2.1.3"
3(a) | percentage marks obtained. 110 |3 BT3 | 4.4.1
EEE L S

-
- bt
MR &
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i I ] Calculate Pearson’s measure of Skewness on the basis of
mean,mode and standard deviation ,from the following data:
Variable | 14-15 | 15-16 | 16-17 | 17- 18-19 | 19- 20- 2
18 20 21 1.1.2
Frequen | 35 40 48 100 125 87 43 2 CO 2.13
3(b) | Ly 1013 BT3 | 4.4.1
F ‘The following data relate the age of husband and wife
j' Ageof ]33 34 140 43 56 20 38
{ husband
| Ageof |32 30 31 32 53 20 33
| wife [.1.2,
> Calculate Karl Pearson’s coefficient of correlation and interpret it. CO 2.13
Slat ] 104 |BT5]4.4.1
e The data for advertising and sales are given below:
| Adv.Expenditure (X) | Sales () (in lakhs
(in lakhs)
i Mean 10 90
Standard Deviation 3 - 12 1
4() (_;oire]atio'n coefficient 7 = 0.8 110 €9 | a3 213
(1)Calculate two regression lines. 4 g
(i)Find the likely sales when advertisement expenditure is Rs.15
lukhs.
(1i1) What should be the advertisement expenditure if the company
wants 1 attain a sales target of Rs 120 lakhs?
By the method of least square.find the straight line that best fits
the data: )
x 171 168 73 169 [67 165 166 167 | .12,
5 |y 169 |72 70 |70 |68 167 168 loa co 213 |
(a) | Estimate y when x = 60. 1015 BT4 [ 4.4.1
A group of 10 rats fed on a diet A and another group of § rats fed
on a different diet B recorded the following increase in
| welght(gm)
Diet |5 6 8 1 12 4 3 9 6
A ’
Diet |2 3 16 |8 10 |1 ‘2 ‘8 1.1.2,
< L B ' | CO 2.
2 |.3(b) | Doces it show the superiority of diet A over diet B? 10 ]5 BT3
:.“31 The foliowing table gives the number of aircraft accidents that
occurred during the various days of the week. Find whether the
accidents are uniformly distributed over the week. Test at 5%
level of significance.
| Days | Sun | Mon [ Tue [Wed [Thu | Fri | Sat | T 1.1.2,
LNo.ot’ 14 [16 |8 12 (11 ]9 14 |84 Co 2.1.3
6(a) || accidents 10 | 5 BT3 | 4.4.1
Two random samples were drawn from normal population and
their values are
A |66 (67 |75 |76 |82 |84 |88 [90 [92
B |64 |66 |74 |78 [82 [85 |87 |92 [93 95 1.1.2,
Test whether the two populations have the same variance at 5% CoO 2.1.3
level

ook s o ook e
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472 o I o
. A TEXTBOOK OF ENGINEERING MATHEMATC:

Table 2 : SIGNIFICANT VALUES t, (o) OF t-DISTRIR
(TWO TAIL AREAS) [|'t | > t (o)) = « TR

P 4 , - - [ ‘_*_—__-_-—-——'-"—-——___
da.f. Probablhty (Level of Slgﬂlﬁcancry)
() 0.50 0.10 0.05 0.02 0.01 0001
i 1.00 6.3 12.71 31.82 63.66 (36 ,;} —
0.R2 (.92 4.30 6.97 6.93 31,60
| 3 0.77 .42 3.18 1.54 5.84 12.94
3 0.74 2.13 2.78 3.75 1.60 8.61
5 0.73 2.02 2,57 3.37 4.03 i
| g 0.72 1.94 2.45 3.14 3.7 565
g 7 071 1.90 2.37 3.00 3.50 5.1
& 0.71 1.80 2,31 2.90 3.36 5.04
9 0.70 1.83 2:26 282 3.25 478 -~
10 0.70 1.81 2.23 2.76 3.17 459
i 070 1.80 2.90 2,72 3.11 1.44
12 070 1.78 2.18 2.68 3.06 4.992
i3 0.69 1.77 2.16 2.05 301 499
14 0.69 1.76 2.15 2.62 2.98 114
E 0.69 1.75 2.13 2.60 2.95 3.07
16 0.69 1.75 212 2.58 2.92 402
17 069 1.74 2.11 2.57 2.90 3.97
18 0.69 1.73 210 2.55 2.88 392
16 0.69 1.73 2.09 254 2.86 3.88
20 0.69 1.73 2.09 2.53 2.85 3.85
21 0.69 1.72 208 252" 283 387
22 0.69 1.72 2.07 2.51 2.42 379
23 0.69 1.71 2.07 2.50 2.8] 377
24 0.69 1.71 2.06 2.49 2.80 3.75
25 0.68 1.71 206 2.49 2.79 3.73
25 (.68 1.71 2.06 248 | 278 3.71
i 0.68 1.70 2.05 247 2.77 3.69
28 0.68 1.70 2.05 247 2765 |+ 867
29 0.68 1.70 2.05 2.46 2.76 3.66
30 0.68 1.70 2.04 2.46 2.75 365
w 0.67 1.65 1.96 233 2.58 3.29
el
- e U O
o S S S e
5 TEE_':'_.;P"' T
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APPENDIX—II —

'P;;;_:;———__————_—_ﬁ-‘-—-‘-*-ﬁ_‘“—_‘—-ﬁ‘-h_—iﬁ;
Significant Valy % CHI"SQUARP (x 73

es x* () of x*
for Given p

robub:llty a,
P=pP 2>y (a)) =
And is Degrees of Frcedom (d.f)

Degree of Probigh i
] o - .y
freedom (W) }b—no— _H_____h_i:iy (Level of Significance)
——___—_‘——-
Py s r ; . e ——
0=,99 (.25 0.50 0.10 B R e
! 000157 00393 155 — | %oz | per”
: ‘ A58 2,706 3.841 T ng ]
2 0201 103 . - 5.214 6.ean
x ] JSG 4[;05 5 i.fr3.>
3 1186 .A59 0 991 7.824 G.911
1 297 n ot 5251 7.815 985 | 1o
iy iy . i Sy
: - 711 3.357 7.779 9.488 i1 e =0
5 Bhd 1.145 4.351 Lk 1668 13,277
i 9.236 11.070 13.38H oo
6 B72 2.635 5.9, = 3.38% 15.066
! 0.318 10"'!5 12.5492 15.042 ;
7 1,239 2,167 6.346 b7 . vOu3 16812
).3:46 12.017 14.067 16 624 8975
8 1.646 9.733 7.344 13.362 15.507 18168 1:3 e
. By : o 1 20, 50"
10 2.558 3.940 9.340 15.987 18.307 21.161 23,909
11 3.053 4.5756 10.341 17.275 19.675 22 618 94,795
12 _ 3.571 5.226 11.340 18.549 21.026 24.051 96217
18 4.107 5.892 12340 19.812 22.362 25472 | 27.688
14 4.660 6.571 13.3139 21.064 23.685 26873 | 29.141
15 4,229 7.261 14.339 22.307 24.996 28259 | 30.578
16 5.812 7.962 15.338 23.542 26.296 29633 | 32,00
17 6.408 8.672 15.338 24.769 27.587 30995 | 33409
18 7.015 9.390 17.338 25.989 28.869 32.346 34.805
19 7.633 10.117 18.338 27.204 30.144 33687 | 36.191
20 8.260 10.851 19.337 28.412 31.410 35.020 | 37568
21 8.897 o 11.591 20337 29.615 32.671 36.343 RERSR ]
22 9.542 12.338 21.337 30.813 33.924 37.659 10,289
23 10.196 13.091 22.337 32.007 35.172 38968 | 41.638
24 10.856 13.848 23.337 32.196 36.415 40270 | 4EE801 0
25 1 11.524 14.611 24.337 34.382 37.65 41566 - [ 42.50
26 12.198 15.379 25.336 35.363 38.885 11.856 |:3 &: .J.
27 12.879 16.151 265,336 36.741 40.113 41.140 4:,:4.,3
y ' . i . 45,410 18.278
28 13.565 16.928 27.336 37.916 41,337 17‘ ' ‘ ; _'q
§ y D8 296G 39.087 42.557 46 6949 49 588
29 14.256 17.708 28.336 SEE 43.773 47962 | so892
40 14,934 18493 | 29.336 49288 e

’212 * ’2\' -1 muy be used us a normal

Note, For dogreos of freedom (v) greater than 30, the quantity

viriate with unit variance.
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R \ ieioiwer  UNIVERSITY A
k ‘End term Exvamination, 20227
aper 1D
Semester: 11T & VI Date of Exam: ’F‘;T IJ} Jei]
Subjeet: French Subject Code: FLS 103
Branch: All Session: Odd (1)
Course Type: Core ~ Course Nature: Hard
Time: 1.5 houns Max, Muarks: 40 A
Program: R Lo/ € s/ g/ 68 Signatures HOD/Associate HOD: I}L“f'/
Sudent Name: i Roll-No:
Note: All questions are compulsory.
section-A

COMPREHENSION ECRITE

. Liscz le passage et répondez aux quesdons suivantes,
(Read the passage and answer to the questions)

Bonjour! Je m'appelle Sonia. J'ai vingt ans. J'habite a Lille. Je suis frangaise, Je parle frangais, anglais et
espagnol. Je suis ¢tudiante. J'aime danser et chanter .Je déteste le poulet. 1l v a quatre membres dans ma famille.
Mon pere est homme d'afTaires. 1l est fort et gentil. Ma mére est institutrice. Elle est belle et sympathique. J"ai

un frere qui s appelle Rohan. I1 a dix-huit ans. [1 est éwudiant. J'aime ma famille,

A. Dites vrai ou laux: 3
(True or False)

a) Sonia a une sceur, i

b) Le pere de Sonia est journaliste.

¢) Sonia parle allemande.

B. Répondez aux questions, (2)
(Answer the questions)

a) Iy a combien de thow many) membres dans la famille de Sonia?

b) Quelle est la prolession de mére de Sonin?

1P
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Grammaire
3. Conjuguez les verbes., (3) 1
(Conjugate the verbs)
a) Nous (¢tre) italiens.
b) Je (aller) au parc.
c) Loiseau (chanter) les chansons,
d) Elles (visiter) les monuments,
¢) Tu__ (travailler) au burean,
4. Complétez avee les articles définis, (2)

(Complete with definite articles-le,ln ) les)

a) Clest _livre de Rin.
b) Ce sont ~ bonbonw de Caroline,
c) avion ¢st beau,
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d)

a)
b)
c)

d)

a)

b)

a)
b)
c)

d)

a)

b)

c)

Clest chaise de cette classe.

Complétez avee les articles indéfinis, (2)
(Complete with indefinite articles-un,une, des)
Nous mangeons gitcaux.

Cest fleur.

Crest femme.

Clest chapeau.

i 3

Complétez avee les nombres ordinaux, (3)
(Complete with ordinal numbers)

Mai est le mois de 'année.

Samedi est le jour de la semaine.

Septembre est le mois de ["année.

Quelle heure est-il ? (4)
(What time is it?)

06 :30

04 :10

06 :30

12:10pm

Répondez aux questions. (3
(Answer to the questions)

Quel est le mois entre juin et aolt?

Comment allez- vous?

Quel est le sixieme jour de la semaine?

(3)

Reliez les colonnes.
(Match the columns)

<
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Colonne A [ ColonneB l “Answers
" a. i 1_1']1;: — L s ph.' sant _ J _____ .
b. Il fait beau _.ii_-__h is l.'mm}'_ o [ __.__"“H
W edusalel | L Snowing s '

10. Traduisez les mots en anglais,
(Translate the words in Fnglish)

a) Merci beaucoup

b) Bonne Chance

¢) Aurevoir

SECTION-D
CULTURE ET CIVILISATION

11. Complétez les phrases.
(Complete the sentences).

est un vin [rangais.

a)

b) est un fromage frangais.

c) est la monnaie unique européenne.

d) i et sont les couleurs de drapeau frangais.
¢) est la capitale de la France.
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DEPARTMENT OF FOREIGN LANGUAGE
End term Examination, 2022

Semester: 3% & 7* Date of Exam:.).5./.14/2022

Subject: Spanish Subject Code: FLS 101

Branch: All Session: Odd { [i)

Course Type: Core Course Mature: Soft ‘Qb
Time: 90 Minutes Max. Marks: 40 ? . P -
Program: B.Tech/Education/Law/BBA/B.Sc Signature: HOD/Associate HOD: \} ,:’"’
Name: Roll No.

Note: All questions are compulsory.

Ques. 1 Lee el texto y responde verdadero o falso. (5)
Read the text and respond true or false,

iHola! iBuenas tardes!

Me llamo Maria, soy mexicana pero vivo en Madrid con mi familia, la capital de Espaia. ‘Yo tengo :
veintinueve afos y soy directora, Tengo un primo en Madrid que se llama Juan. El es de Espania, es espanol,
Juan tiene 30 afos y es camarero. El vive en una casa muy grande.

a. Mara es de Francia, V/F

b. Maria vive con familia. V/F

c. Juan es camarero, V/F

d. Juan es de Espana. V/F

e, La casa de Juan es muy grande, V/F

Ques. 2 Elige las palabras de tabla en esta imagen y hace cinco frase con numeros. (2.5)
Choose the words from the table in the picture and make 5 sentences using numbers.

[
wile

| -y
o
e i

fmai mb

THRIED

L]

— <
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e.g. Hay seis sillas en esta clase.

P aepn ogw

Ques, 3 Hace cinco frases con el verbo ser usando profesion.
Make five sentences with the verb ser using profession.

F

N

o

(5)

Ques. 4 Busca los errores de adjetivo posesivo, (2.5)
Look for the error of adjective possessive,
e.g. Nuestros escuelas son grandes,
Nuestras escuelas son grandes,
a. Mis bolsos son caros.
b. Sus coche es interesante.
c. Vuestros hermanas y vuestros primas son bonitos.
d. Nuestra padre es doctor.
e. Tu camisetas son modernas.
(4)

Ques. 5 Completa con dias, meses y estaciones.
Complete with days, months and seasons.

a. Martes Jueves,

h, Noviembre.
C

d

Sabado Domingo
Febrero  Marzo
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© Spring:
o Winter
a  Abrll Mayn

Ques.6 Completa la serie de numeros.
Complete the series with numbers,

DRI e iiits L ——————

b Dos _ -,

r Treinta y unn

d Cero

—— e — _——— — —

e, Veintinueye yfreiftay unn

I. Cuarenta y siete _,tuarentay nueve

Ques. 7 Escribe el nombre del miembro de la familia,
Write the name of the family member.,

a. La hermana de mi padre es mi

(a)

dlerineho

(2.5)

b. Los padres de mi padre son mis

c. La mujer de mi padre es mi

d. El hijo de mi tia es mi

e. La madre de ml madre es mi

Ques, 8 Cambia las siguientes palabras a plural.
Change the words to plural,

Eg. Mesa = Mesas
a. Rotulador

b. Pez

c. Lunes

d. Cancitn

e, Chico

Ques, 9 Lee las frases y escribe verdadero o falso.
fead the sentences and wrlte true or false,

. Fete casa es de Juan,

. hrqueclla bolso o5 negro,

T e

[<a chica v5% ml amige.

i~

, [otas metas WOn NUCAL,

d
e, Fua vertana os maren,
f

, [atos hermanas son boanltas, i -

(3)

9
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Ques. 10 Relaciona los saludos y las deszed!las de espaiiol con Inglés,

Match salutations from Spanish to English,

a. Buenas noches
b. Hasta pronto
c. Bienvenidos
d. Gracias

e. lgualmente

Ques.11 Completa con el articulo determinado e indeterminado.

Thank you

Same here

(2.5)

See you soon

Good might

Welcome

Complete with determinate and indeterminate article,

c.q. Una bolsa (in)
El cuaderno. (d)

sillas (d)

P a0 oo

cancién (in)
bolso (d)
estudiantes (in)
maviles (d)

(2.5)

’ 0
<X
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DEPARTMENT OF FOREIGN LANGUAGH
“tud Term Evannnation, 20227

aper HD,

Daie of Fapm ¥4 12,2020

Subject Corde, £) %102

Sewsion: (O ( J1)

Cowrse Sature: Hard _
Mux. Marks: 40 -
Signatures HOD/Assaciate IHJI]:Q-”H\ -

Semester: drd& T

Subject: German

Branch: B, Tech/RBA/Law/B.5c¢/Bed
Course Type: Core

Time: 1 howur M minutes

Propgram: All

Srudent mame: Roll-No:

Norte: All questions are compulsory.

Question 1,
Lesen Sie den Text und antworten Sie! (5 marks)

(Read the text and answer the following questions)

Vaorstellung

Mein Name ist Anna. Teh kommeausOsterreich und leheseitdrei Jahren in Deutsehland. Teh bin 15 Jahre
alt und habeswerGeschwister: MeineSchwesterheiM Klara und ist 13 Jahre alt, meinBrader Michael 1st
I8 Jahre alt Wirwahnenmitunserenb ltern in emem Hans in der Nihe von Minchen, Meine Mutter

isthoochin, memVarerarbenet m eimer Bank.

Ich lese gerne und mag Tiere: Wirhabeneinen Hund, sweiKatzen und im Garten
cinenTeichmitGoldlischen. lch gcheauch gemne in dic Schule, meinLicbhingsfachistMathematik. Physik

und Chemie mag ich meht so geme.
Nach der Schule gehe ich oft mitmeinenFreundinnenim Park spazieren, manchmalessenwireins. Am

Samstagpechenwir oft ins Kino. Am Sonnti g schlafe ich Jange, dannkoche ich mitmeiner Mutter das
Mitagessen. Nach dem Essen pehenwirmit dem Hund am See spazieren. Sonntag istmembicblingstag!

1. Beantworten Sie den folgenden Fragea:
(Answer the following questions.,)

1. Wie altist die Schwester von Arna?

i, Wo athenet der Vater von Anna'!

i, Wohingeht die Familie am Sonntag mit dem Hund spazieren?

¢&\
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Il Suchen Sie die Warter aus dem Text,
(Look for the words from the tet.) ==

. Sometimes-

1. Parents-

Question 2.

Was Kannst du in der Freizeit machen oder nicht machen? (3 Marks)
(What can you or cannot do in free time? Look ai the riven pictures and write complete
sentence.)

What do you do in your freeé time?

¥ .-_“ .- ) ."‘- M
:&-‘ @ - -y -
: F ) -~ ] e o ._-' ) B 3

.

Question 3,

Schreiben Sic tiber eins der folgendenThemen,circa 60 Wirter, (6 Marks)
(Write on any one of the topics given below.)

1.  Mcin Freund’MeineFreundin
i. MeineFamilie

l"- | o @
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I, suchen Sie die Waorter aus dem Fent,
(1 ook for the words Tram the test,)

i Sivmnennge-

i "arents-

Ouestion 2. ,
W as Lannet du in der Freizreit machen mber wielit imaehien!
(W hat can von or cannol do in free time? Look ai the fiven pic

(31 Maoarks)
tures and write complefe

® wentenoc. ) Bt [
[ \Iﬂr'r'“"l 1 I‘:'In yﬂ‘.l f.l'l'"l‘ im ‘}'"_‘ll‘f' "'-,.r-.-# Y irmye A
nl"-:'":x
s e - i
o ::j_ \q‘ = ' .Q[;lws.s
.'. Ead [ e .
f 1 - “EA -
-1 D i
{ { L - ’

I

- — - -

. . I:.:' ‘":-}'.‘-F-__-, . ‘l"'f'lgg!‘-___. i
| = R Gt

Question 3.
schreibien Sie iber cins der folgenden T hemen.cirea 60 Wairter. {6 Marks)
(W rite on any one of the topics given below.,)

v, Mem Freund™MemeFreundin
i Memekamilie

. ——— . =

PR S W S W W W W e =
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Questlon 4., =
Chersetzen Sie auf Englisch,
(Translate into English)

1. lm Winter schneil es

(4 Marks

. Eine Woche hat Sicben Tage

. Mein Geburtstagist um sichzehntenJuni.

iv. Der Unterrichibeginnt um elf uhrvierazig.

Question 5,
Werlst das?
(Whao is this?)

=y

i

il e iir ist

(2 Marks)

c®?

~ Scanned with CamScanner



Question 6,
Erginzen Sle die richtige verben. (5 Murks)
(FIlin the blanks with appropriste verh forms.)

th.'kuul‘tﬂwhmmmlIlml!h ringt)
1. Er swel Kilo Tomaten

. Was du hemezumGeburtstag!?

nt. Tina cine Cola und cinelimonadem!,

. Sie dic Mutter von Fima und Marx

v. Mein Freund rwelGeschwister.

Question 7.
Schreiben Sle den Art (3 marks)

(Write the correct article))

ikel (der/die/das)?  —

i, Blesnft
i, Heft
. Freundin
v, Kuli
V. Lineal
VI Tasse
Question 8.
(5 Marks)

Welches Waort past hier?

(Fillin the blank with suitable word in German,)

in.fu.*-::uhnc.-'mciw‘in.-'mcin:fhci[!u'infwuhl-.l,-“ [F-rriil addresse)

(istb
Servus, Name ist Roland Maurer Ich .’-ﬂjallrcu!l.lch in
Linz. Linzliegt Osterreich. —Freundm Anna,Sie in
Pasing. Dasliegt Munchen ThreTelefonnummer N897654323
Meine ___ st rola nd, maurerid gmail.eom.
Questlon 9.
Welcher Tag oder Maonat fehit? (2 marks)
(Which day or month is missing?)

i Heute istDienstag, Morgen isl

ii. Esist Herbst. Die Monatesind . ;
Question 10.

(5 Murks)

Erginzen Sle.
information nbout Germany);

(Fill in the blank with the approprinte

Scanned with CamScanner
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Question b,
Ergimzen Sie die richtige verben,
(Fillin the blanks with appropriate verh forms,)

(5 Marks)

(istkanlt hekommst hat hringt)

[T awer Kilo Tomalen

n. Was du hewterumGelburtstag!

it Tina cine Colo und eineLimonademit,
v, Sie die Mutter von Tina und Narx

v Medn Freund awerGeschwister

Quuestion 7.
Schreiben Sie den Artikel (der/die/das)? — (3 marks)
{Write the correct article,)

1. Bleisnft
i, Hefl

1. Freundin
v, Kuli

V. Lincal
Vi Tasse

Question 8.
Welches Wort past hier? {5 Marks)
(FFill in the blank with suitable word in German,)

(isvbin/wohne/mein/in’‘meine/heifivin/wohnt/E-mi il addresse)

Servus, Name st Rolond Maurer Ich 30 jahrealtIch in
Line Linelicgt Oslerreich. —Freundin AnnaSic in
Pasing. Dasliegt Munchen ThreTelefonnummer 0897654323
Meine 1st roland maureria pmail.com.,

Question Y.
Welcher Tap oder Monat Tehit? (2 murks)
(Which day or month is missing?)

1. Heute istDienstag, Morgen ist :

it g oast Herbst, Die Monatesind \ ;

Question 14,
Ergiinzen Sle, (5 Murks)
(Fill in the blank with the approprinte information abont Germany):

c¥
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A. When does the Oktoberfest stan”?
. carly November

I . mid-Seprember
) B. Famous catable in Oktoberfests™ .
) 1. Wurstchen
. Gimger Heart Bread
C. Capital of Germany 1s -
' 1. Wien

| n. Berhin

| D. The famous nver of Germany 1s )
\ 1. Rhein
1. Hudson
| = i
E. Lara kommtaus . Sie sprichtTiirkisch,
1. Polen

| 1. Die Tirkes

! ALLES GUTE!

&
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DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY
“End Term Examination, December-2022"

SEMESTER __ 3%%/5™ ._DATE OF EXAM _ 19/12/2022
SUBJECT Analysis & Design of Algorithms =~ SUBJECT CODE = CSH204B-T
NAME l |
BRANCH . Computer Science & Engineering = SESSION I
(CSE)AIML | '
TIME | 9 AM - 12 Noon | MAX.MARKS | 100
PROGRAM | B.Tech CREDITS 5 |
NAME OF Dr. Susmita NAME OF - Mr. Anup Singh |
FACULTY  Ray,DRHARSHMSPRIYANKA COURSE - Kushwaha Llr _
: _COORDINATOR Y \

Note: Attempt all questions. WA
- ; _ CoOR| s
- Q.NO. QUESTIONS MARKS ESSE | M'S PI
_ ity D sy
| PART A

BT1,
WO . , BT2
| 1(A) | What is the complexity of Radix Sort Algorithm? Which co2
:' sorting algorithm is used by Radix Sort? 2.1.3
i . BT3
LT Bucket Sort uses Insertion Sort. Is the complexity of CO4

1(B) [ Bucket Sort Algorithm same as Insertion Sort or not?
| | Justify your answer. 2.2.3
f What is the time complexity of the following pseudocode
i of an algorithm? BI3
[ C CO4
| p=0 223
1) for(i=1, i<n, i=i*2) -
R {p+;}
[t for G=1, j<p, j*2)
I i {statement s;}
i . Name 2 sorting algorithms which uses Divide & Conquer BT2 .
- 1(D) . | Approach? Co1
' 2.1.3
F ek ok ok ok
Y
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— [ Whichare the fourdifferent approaches for solving
)| Recurrence Relations?

coz

BT1

2.1.3

PART B

Explain Divide and Conquer strategy with an example.
Write the algorithm of Merge Sort and derive its
complexity.

Coz2

BT2
213

3 Use Merge Sort algorithm to sort the following set of

numbers. Trace all steps of execution of sorting algorithm:

60, 23, 38, 76, 49, 14, 88, 57

COo3

BT3

2.23

PART C

. [ formulate

Write the Activity Selection Algorithm and find its
complexity. Name the algorithm design strategy used to
this algorithm.
Apply Activity Selection Algorithm for finding two
sequences of sequencing activities with start and finish
times as provided in the table below:

I |1 ]2/3]4]5]6 7 18 19
Sill]2]4]1]5]8 9 11 |13
Fil4 [5]7]8 |9 10 |11(14 |16

Marks
Breakup:(
2+1+2)

Co1,
€0z,
Co3

BT2,
BT2,
BT3

2.1.3,
223

T R I T S R e e e e
> T fate > Lt
5 . F i -
¥

e s T
i 7 Sl

| find its complexity. Name the

Write the Job Sequencing with Deadline Algorithm and
algorithm design strategy
used to formulate this algorithm.

Apply Job sequencing with Deadline algorithm for

| scheduling the jobs with specified deadline as given in the

following table. Show step by step approach of obtaining

I. the problem solution. Also compute the maximum profit.

INDEX 1 2 3 (4 |5

JOB it ]2 (33 |54 |js

DEADLINE |2 1 3 12 |1

PROFIT 60 | 100 {20 [40 |20

Marks
Breakup:(
2+1+2)

Co1,
coz,
Co3

BTZ,
BT2,BT

213,
2.2.3

ook sk o ook ok
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Co1,
6 Co4 BT2,
Explain briefly Minimum Cost Spanning tree with an example. Write BTZ,BT‘* 2.1.3
- | Prim’s Algorithm to generate MST for any weighted graph. Analyze the : :
4 BT3
co3
2.2.3
5
Explain briefly the Dynamic Programming strategy of designing algorithm. co1
- | Write the Algorithm of Matrix Chain Multiplication using Dynamic Sia
| Programming strategy. .
& BT2, '
BT2
'5 BT4
€03
223
Use Dynamic Programming method to multiply the chain of 3 Matrices
& namely Al, A2, A3. Following are the dimensions of the matrices :
Al:[2x3]
A2:[3x4]
A3:[4x2]
| To obtain M = Al x A2 x A3 find out the cost of computation of
multiplication of this Matrix Chain and the order in which the matrices
| need to be multiplied together. Show computation of ‘all cells of the cost
computation matrix and all cells of the matrix which stores optimal
parenthesization (/sequence) of matrix chain multiplication.
4 Co1,
coz2 BT2
Explain with example optimal binary search tree 2.1.3
Find the Optimal Binary Search Tree for the following set of keys and 6 Co3,., | BT3, 223
search frequencies using Dynamic Programming method for successful COo4 BT4 o
|| search only
LR T ESE
17
s
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Index 1
Keys 12 15
Search 4

Frequencies

[= RS 98]
=
)
w

(45 ]

Show all steps of computation in building the memorization matrix.
| Analyse the matrixto #ind the optimal binary search tree organization

PART D

What is Backtracking strategy for algorithm design? How is it different
_ | from Brute Force approach?

Co1,
co2

BT2,
BT4

2.13.

. Use Backtracking algorithm to solve 4-Queen problem by drawing a State

:' | Space Tree.

co3

BT3

223

What are the three formulations of Graph Colouring Problem?

€01

BT2

213

| Use Backtracking Approach to determine all the possible solutions for

coloring the nodes of the following graph by drawing State Space Tree.
Determine the chromatic number of the graph.

(1) 2"

Ny A\

>

s

{3
A

Cco3

BT3

2.2.3

Explain briefly the Branch-N-Bound technique used in algorithm design.

( Explain with examples the 3 different Branch and Bound techniques.

Co1

BT2

2.1.3

Solve the following 0/1 Knapsack Problem using Branch and Bound
Technique. Draw State Space Tree in solving the problem step by step :

| M=15,1=4, (p1, p2, p3, p4) = 10, 10, 12, 18 and (Wi, w2, w3, wi)=(2, 4,
.| 6,9).

COo3

BT3

223

Define P, NP, NP-Hard, NP complete classes of problem with suitable
- | examples.

kS Pl o3c ofe e afa nfeata ol ata 'l

s e s e o o

Cos

BT2

-

2

LR

Scanned with CamScanner



\

"

-
=

S [ MANAV RACHNA
manaveasna | TN IVERSITY A

' Declored os Stole Privote University vide Haryana Ac 246 of 2014

.

DEPARTMENT OF COMPUTER SCEINCE AND ENGINEERING
“End Term Examination, Dec-2022"

SEMESTER | CSE5 |' DATE OF EXAM | 13/122022 |
SUBJECT NAME | ADVANCED JAVA | SUBJECTCODE | CSH308B-T |
"BRANCH | CSE(A/B) } SEsﬁON’”*ii"I(glboAM- - i
| | 11.00AM)

‘TIME | 2 Hrs | MAX. MARKS | 50

PROGRAM | B.Tech | CREDITS 2 T
"NAME OF | Dr.RANJNAJAIN | NAME OF COURSE | Dr. RANJNA JAIN, ‘
| FACULTY COORDINATOR | \ A"

Note: Part A & Part B: All questions are compulsory. W%/’

el Wl SERELH s DR TR0 T e
QNO. | ' QUESTIONS MARKS | ADDRESSE | PLO0N'S | py
_ 1'( A) | Name the different types of session tracking in
e . v servlet and web application. 2 co3 BT2 2.1.2
| o -1[3']:"' Define the concept of Encapsulation with the
= | help of java program. 2 co1 BT2 1.2.1
) e
> 1e | .
. Differentiate between Iterator &Listlterator. 2 C02 BT1 2.2.5
._1[’[,) What is the function of Service () method in the "
lifecycle of Servlet? 2 C03 BT1 5.1.1
1(E) What directive will be used to add lil:lrar_}r in the
| JSP page? Write its syntax as well. 2 C0o4 BT3 34.2
. - | What are the steps involved in making
2(A) | JDBC connectivity? 5 Cco1 BT2 211
Create a simple calculator application using
2(B) | servlet. 5 €03 BT3 4.2.1
= '
& | 3(a) | Explain the Architecture of JSP. 5 CO4 BT2 321
w : Write a JSP program which reads username and
password input by user on an HTML page.On
submission check username and password
against any default value in servlet program, if
- | both detail matches redirect user to new home
234 3(B) | page or else redirect to an error page. 5 C04 BT3 2.3.1

%ok kodok
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| Note: Create error page using page directive.

| What are generics and how to use it?
) | Demonstrate with the help of java program.

ey

BT3

2.2.3

- | How to pass initialization parameters to a servlet
lin java using servletconfig interface.

Demonstrate the same using Java program.

Cco3

" BT3

| | Explain MVC design Pattern in detail.

COs

BT2

| Differentiate between GET and POST method.
| Mention examples also.

sedkkskoksk sk

CO3

BT3

7770)
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. Declaned o5 Stoie Private Urivarsity vide Haryana Agt 26 of 2014

DEPARTMENT OF DEPARTMENT OF COMPUTER SCIENCE &

TECHNOLOGY
“End Term Examination "~~~ Dec-2022"
SEMESTER 5 DATE OF EXAM  |3.12.2022
SUBJECT Network Security SUBJECT CODE  CSH329B-T
NAME
BRANCII CSE (CSTI) SESSION I
TIME 9.00 Am to 12.00 Noon MAX. MARKS 100
PROGRAM B.Tech CREDITS 3.5
NAME OF Mr. Sujeet NAME OF Dr. R. Grijia W
FACULTY COURSE Y*)
COORDINATOR L W

Note: Part A: All questions are compulsory. Questions will be of short answer type (2.
Marks).

Part B: All questions are compulsory. Questions will be of short answer type and brief
answer type(2,4 Marks).

Part C: All questions are compuisory. Questions will be sf descriptive jpe or scenarios
based. Each question will be of (10 Marks).

Purt D: All questions are compulsory. Questions will be of descriptive type or scenarios
based. Lach question will be of (10 Marks).

CO =
Q.NO. QUESTIONS | -:MgRKS%.-_ADDR—' -3‘11‘,;’3315 R TR
kil | | EssED |
P
A What are the difference between
, | am packet analysis and  packet
R forwarding? Explain each with the
T- help of example.
A 2 cOol [ LILZ 1.2.1
T | AR) 2 Ccol | L2,L3 1.2.1
Differentiate between network
security and wireless network security.
Explain each with the help of real life
scenarios.

e sk ok R
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What are the difference between
Morris Worm and Mellissa Worm?
Explain in detail.

COl

L1,L2

1.4.1

A(4)

Explain the difference between Denial
of Service Attack and Man In The
Middle attack with the help case
study.

COl

L2,L3

2.2.1

A(5)

What is Distributed Denial of Service
attack? How it affects the systems
performance?

COl

L1,L2

221

PA
RT

B(1)

What do you understand by Email
Encryption? Explain with the help of
example.

CO2

L1,L2

1.2.1

B(2])

Write a short note on SMTP, HTTP,
HTTPS FTP, SSH, SSL, TCP and
UDP with port nunvber?

CO2

L1,12

1.2.1

B(3)

Define Mobile device security.
Explain with the help of case study.

CO2

L]1,L2

2.2.1

B(4)

What do you understand by intrusion
prevention systems intrusion detection
systems? Explain both with the help of
case study.

CO2

L2,L3

1.2.1

o >

'ﬁ'

(1)

What do you unde¢-stmad--common
lower-layer protocols and common
upper-layer protocols? Explain both
with the help of real world scenarios.

10

cO3

L2,L3

2.2.1

€(2)

Describe in brief about Access control.
What do you understand by one factor
authentication, two factor
authentication and multifactor
authentication? Explain each with the
help of real life scenarios.

10

CO3

13,14

1.2.1

€(3)

Define open systems interconnection
layer. Explain each layer with the help

10

CO3

L2,L3

221
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of diagram. What are the difference
between TCP/IP model and OSI
model explain with the h-lp of real life
scenarios.

What do you understand by proxy?
Discuss the advantages and
disadvantages of configuring the
proxy with the help of example and
also mention the few tools that can be

used for setting up.
C(4) 10 CO3 L2,13 1.2.1

Define scanning. Explain different
types of Scanning and Analysis tools
available. Describe in brief Port

Scanners with help of example.
D(1) 10 COo4 | L1,12 2.2.1

D(2) | How we can enhance the network
security with respect to network
physical devices and sofiware’s (tools,
updates and patches) €éxpiain in points.
10 Co4 [ 12,13 2.1.1

o= x>

Tina used their Microsoft account on a
lab computer. She made sure her
account was no longer open in the
browser before leaving the Iab.
Someone came in behind her and used
the same browser to re-access her
account.

How it was possible?
_D{3) 10 COo4 | I3,14 2.1.1

A cousin sent an electronic e-greeting
card to your work email. You need to
click on the attachment to see the card.

What will be your response?
D(4) 10 CO4 13,14 1.4.1

EE S 23 2 2
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UNIVERSITY Zi

[FORMERLY MANAY RACHMNA COLLEGE OF ENGIMEERIMG
NAAC ACCREDITED ‘&' GRADE INSTITUTION;
Declored os State Private University under section 2f of the UGC acl, 1936

DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY
“T3 Examination, Dec. -2022"

SEMESTER 5th DATE OF EXAM 16/12/22
| SUBJECTNAME | Advanced Database SUBIJECT CODE CSH304B-T ';
Management Systems i
BRANCH Comp. Sc. & Engg. SESSION 1
TIME 3 hrs. MAX. MARKS 100
PROGRAM B. Tech. CREDITS 3
| NAME OF Pramneet Kaur NAME OF COURSE | Pramneet Kaur
 FACULTY COORDINATOR \
Note: All questions are compulsory. Mw
; i MARK 0 BLOOM | -
Q.NO. . QUESTIONS. g ADDRESSE SLEVEL | <PL
] i D
Differentiate between ER-Model and
1(A) | Object-oriented Model with the help BT1,BT2,
< of an example 5 €01 BT3 1.1.2
= Construct an E-R diagram for a
P hospital with a set of patients and a
o 1(B) | set of medical doctors. Associate with
each patient a log of the various tests
and examinations conducted. 5 CO01 BT1,BT2 | 1.11
2(a) | Explain Two-tier and three tier
oM architecture with suitable example. 5 Cco2 B1,BT3 1.2.1
5 Given a relation R(CP, Q R, S, T, U)
< d i =
& | 2m) and Functional Dependency set F[.)
4Ty {PQ— R, SR—= PT, T — U}, determine
given R is in which normal form? 5 coz2 BT2,BT3 | 1.3.1
What are Reliability and Commit ' {
Protocol, Fragmentation and BT1,BT2
3(A) | distribution. Explain 10 C03 BT3 1.3.1
Differentiate between the following
© a) Parallel and Distributed
=
Et= Databases
o b) Federated and Unfederated
: Database design
3(B) 10 €03 BT1,BT3 | 1.3.1
What are the points of comparison
4(A) | between Deductive and Non 10 C03 BT1,BT2 | 1.31
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deductive databases. Discuss the
features of Parallel databases
architecture and draw comparison
between Deductive and Parallel
databases

Discuss the following:
a) Prolog Notation

b) Data log Notation
c)Clausal Form

d) Horn Clauses

10

Co4

BT2 2.1.2

PART D

Explain with example the Multimedia
Database Architecture

10

Co4

BT2 2.1.2

Discuss the Spatial Data Model,

| Components and characteristics

10

Co4

BT2 21.2

What is Digital Library and their
components? Discuss the advantages
and disadvantages. 'Compare them
with traditional libraries

10

€04,C05

BT2

Discuss the components,
characteristics, merits and demerits
of Temporal Databases

BT1,BT2 | 2.3.

. a-
ta

v \u
& 4
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MANAV RACHNA
| UNIVERSITY A

Declared o= State Private University vide Horyona Act 26 of 2014

DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY

“End Semester Examination, Dec-2022”

SEMESTER [ V® | DATEOFEXAM | 16122022 |
SUBJECT SOFTWARE PROJECT | SUBJECT CODE CSH307B-T
NAME MANAGEMENT
BRANCH _ } J CSE | SESSION | 9AM IZPM |
_TIME | 3Hrs | MAX.MARKS | 75 |
PROGRAM | CSE |_CREDITS | 4 |
NAME CF | Mr. Agha Imran NAME CF Mr. Agha Ymran
FACULTY COURSE
COORDINATOR Ly
Note: Attempt all questions. W
M v
A o BLOO
Q.NO. QUESTIONS R . M'S Pl
K ADDRESSED LEVEL
S
What you understand by work break structure (WBS)?
~ What are the various types of WBS? What is the role of
#> | QL. | WBS directory and what the contents of it? Explain. BT2 222
5 Draw product breakdown structure and product flow 15 Co1 b 3' o
' diagram for online ticket reservation.
=
The following details are available regarding a project:
. Predecessor
Activity . Duration (Weeks)
Activity
A - 3
=
o B A 5
= | Q. C A . 15 co1 BT3 | 222
W D B 10
E C 5
F D,E 4
Determine the critical path, the critical activities and
the project completion time.
ek e ok o
5
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What would be the basic COCOMO equations form? A
project size of 500 KLOC is to be developed. Software

= Q3 | development team has average experience on similar co2 BT3 | 322
> (A) | type of projects. The project schedule is not very tight. 15 -
E Calculate the Effort, development time, average staff
' size, and productivity of the project.
) Q3 | Define contract management, What are the advantages 10 co3 BT2 | 324
(B) | &disadvantages of fixed price contracts? -
Q4 | Differentiate between Six Sigma and CMM model, what
g (A) | are their consideration factors? 10 Co4 BT2 412
~
= Q4 Define the Characteristics of software quality and
'U (B) explain the SO 9126 related to it. What are the areas for | 10 CO5 BT2 4.2.2
which it is used?
ook sk desk
i

=D
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SEMESTER 5th

MANAV RACHNA
UNIVERSITY>

Doctfored as State Private University vide Haryona Act 24 of 2014

DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY
“T3 Examination, Dec. -2022”

DATE OF EXAM

16/12/2022

SUBJECT NAME

System & N/w Admin.

SUBJECT CODE

CSH306B-T

BRANCH

CSE/AIML/CDA/CSTI

SESSION

TIME 3 hr.

MAX. MARKS

75

PROGRAM B. Tech.

CREDITS

q

NAME OF Narender

FACULTY

NAME OF COURSE
COCRDINATQR

Narender

Note: All questions are compulsory.

A

" Q.NO..

QUESTIONS

€0

[BLOOM'S

—1rveL | FX

1

administrator.

Differentiate the tasks and
responsibilities of System
administrator and Network

CO1

BT1 1.1.1

| 1(B)

What are various file system and
standards. Explain in detail.

10 Co1

BT2 1.1.2

Z:_[A] process model.

What is process? Explain UNIX

€02

BT2 1.3.1

|1F What do you mean by
[ 2(8)

in brief.

array of independent disks? Explain

Redundant

Co2

BT2 141

[PARTE!

addresses starting with

" | customers as foliows:

a. The first group has 64

each needs 256
addresses.

| b. The second group has

addresses.

addresses.

i3 "_‘ ' - | Design the sub-blocks and find out
- | | how many addresses are still
available after these allocations

An ISP is granted a block of
190.100.0.0/16 (65,536 addresses).

The ISP needs to distribute these
addresses to three groups of

customers; each needs 64

¢. The third group has 128
customers; each needs 64

customers;

256

15 CO03

BT3 2.1.3

o
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Explain the concept of routing,
Differentiate the inter-domain and
intra-domain routing in detail.

10

C03

BT2

1.1.2

Security is a major cancern today.
How can a system or Network
administrator can help in this?
Explain different backup methods
also.

10

CO4

BT2

2.1.1

Explain system tools and GUI tools
in detail.

10

C04

BT2

1.4.1

Write short notes on any one:
a. Patches
b. TCP wrappers

Co4

BT2

-0
NS

2,11

Vo
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» Decimred as Store Pri

DEPARTMENT OF Computer Science & Technology

v sy wice o

“End Term Examination,Dec-2022"

| SEMESTER S%CDA/CSTI)/7*(DSML) DATE OF EXAM 19.12.2022
SUBJECT THEORY OF SUBJECT CODE CSE 311B-T
NAME AUTOMATA AND
. .. COMPILER DESIGN . _
| BRANCH ¢cST  SESSION MORNING |
|TIME ~ 9:00-12:00  MAX.MARKS 100 ) |
| PROGRAM BTECH CREDITS 4
NAME OF DEEPANSHI GUPTA NAME OF DEEPANSHI
FACULTY COURSE GUPTA W
COORDINATOR
Note: Part A : All questions are compulsory.
: co BLOOM'S
Q.NO. QUESTIONS MARKS | o e | i et P
P
A
R | o
- Define Grammar with example. Design the PDA
I- which recognize the string of the tape 13
A L=12a"b"" | y={ab}} - 10 £02,C03 BT1BTZ |2
PA
RT Define NFA and DFA. Design a Turing machine
that accepts all strings consisting of even 2.3.
-B | @z | numbersofi’s 10 01, €03 BT1,BT2 |1
What is first and follow? Why it is important
in compiler Design? Justify your answer with
P example. Construct parsing table for LR(0)
A items for the following grammar. 2.2.
R Q3 S-> Aa|bAc|dc|bda A->d 20 Co4 BT2 2
Show that the following grammar S— AaAb | 2.3
T-| Q4 |BbBaA—eB—eisLL(1)butnot SLR(1) | 10 €04 BT3 1
C Explain rules to eliminate left recursion with
example. Also explain left factoring in detail 1.3.
[ Q5 | with example. | 10 €04 BT1 1
P Q6 | Develop a syntax directed definition for the | 15 co5 BT2 2.3.
grammar. Draw an annotated parse tree for 1

L R4 ]

)
Q
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A ' the input expression: (3%2+2)*4

_ Q7 | Explain Peephole Optimization in detail. 10 Co5 BT1 1
T- . : e

(a) Discuss synthesized and inherited
D attributes using a suitable grammar.

(b) What is intermediate code? What is its
importance? Discuss various representations 13.
| of three address code.

ek ok ek
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.‘ Declared af Stote Private W sty i Hamvone Act 26 oF 2014

; DEPARTMEWPUTWE‘&‘TECWOGY

PP O L ENDS I D0 e ;
FACULTY NAME Dr Neelu Chaudhary . |NAME OF COURSE COURDINATOR- Dr Neelu Chaudhary

TIME
COURSE NAME: Data COURSE CODE: ;5 DURATION: 2:00 [DATE OF EXAM:
Structures CSH210B-T CREDIT: 03 [MAX. MARKS: 50 hrs 17-12-2022
PROGRAM: B.Tech ME-SMA SEMESTER: 5th :

Note: All Questions are Compulsory.

" |Consider the linear arrays XXX(0:10) and YYY(1935 1985)
.+ {a) Find the number of elements in each array.

:"_.h) Suppose Base(YYY)=400, and w=4 words per memory cell for YYY,
“|Find the address of YYY|1942], and YYY[1988].

‘n

CO1 BT3 1.4.1

"% Write an algorithm to insert element in linked list.

R

co2 | BT2 | 141

Write an algorithm to push clements in stack.What will be the value of
.33 [top when there are 5 elements in stack. Ccol,
CO3 BT3 1.4.1

h

"I Find the value of the postlix expression :- ABCD ##- (IF A =150, B=10,

C=2 D=3)
col,

CO3 BT3 1.4.1

n

Write an algorithm to delete an element from a guuuc implemented
~ |through array.What will be the value of Front and Rear when queue is

. |completely filled/empty e

co3 BT3 1.4.1

N

"|Suppose a queue is maintained by a circular array QUEUE with N=12
.| |memory cells. Find the number of elements in QUEUE if
i) FRONT=4, REAR=S;

ii) FRONT=10,REAR=3
5 CcOo3 BT3 1.4.1

A binary tree T has 9 nodes. The inorder and preorder traversals of T
“lyield the following sequences of nodes: ’
|inorder:-- DHBEAFCIG

|Postorder:-HDEBFIGCA
: CO1.CO4| BT3 1.4.1

n

5b.110 815252230

IWhat is binary search tree.Construct a bst using following nodes.

5 COo4 BT4 1.4.1

i s  |CcO1.cO4| BT2 141

+|Write breadth (irst search algorithm/steps to search an ciement in a tree.

899 Calculate the total number of edges in a complete ) directed graph and
b./|bjundirected graph when the number of connected nodes is 2.

CO+ BT3 1.4.1

th
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| Declansd o Stote Private University vide Haryana Ast 26 of 20714

DEPARTMENT OF CST
“nd Term Examination, Dec-2022"
SEMESTER | 5 | DATE OF EXAM | 17/12/2022 i_
SUBJECT | Green Computing SUBJECT CODE | CSS325B-T "-
NAME | | |
BRANCH | CSE /MMHL|CoA] ST | SESSION I |
TIME | 1% heurs | MAX.MARKS | 25 |
'PROGRAM | B Tech . CREDITS 2
NAME OF ‘ Dr. Sachin Lakra NAME OF Dr. Sachin Lakra
FACULTY Mr. Sanjay Kumar . COURSE |
Mr. Narender | COORDINATOR |
Note: Part A : All questions are compulsory.
Part B - All questions are compulsory. N
T BRI T e A RN BRI
QN0 | i S AV QUESTIONS I s s MARKS | ADDRESS | ¢yrvpy [ PI
i 4% '-I*_. : '.‘-- v_,“': ' e a1 :ir«' o prid "I‘ A B .’.l e ED | | |
A) | Define recycling. 2 C05 BT2 7.2.2
1(B] Name any 2 toxins found in a computer. 2 cn1 RT1 7.1.1
(C) | State 2 properties of energy-efficient software. | 2 C05 BT2 7.1.2
| Name any 2 global centers of e-waste disposal. | 2 cO2 BT1 7.2.1
. | Give 2 differences between green computing
| and sustainability. 2 Co1 BT2 7.1.1
| What is E-waste? What are the various types of
| e-waste being produced by human beings?
- | Suggest one way each for processing each of 131
" | the types of e-waste you have mentioned. 1+2+2 CO01 BT3 6.1.2

| What is the purpose of a data center? What
should be the strategy which should be
foliowed by a company such as Google to make ,
| one of its data centers green? 2+3 Cc03 BT3 7.2.2
| Differentiate between telecommuting and
| owtsourcing. What advantages have been
| observed for the environment due to “Work 2.24
-+ from Home” during he Covid lockdown?

Aok gedokokE
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Semester: 5 Subject: PCE-INI NAME ..
Subject Code: CDO301 Time: 60 Mins Roll No -
Max Marks 50 Seamon . [I At |upi£;.-,“ Branch: CST/ME/ECE

Instructions: All questions are compulsary. Lach question carries multiple aptions.
Mo nepative marking, Caleulator is not allowed. Answers ore to be filled in the answer table only.

Answers written outside the answer table won't be considered.
Answer Table:

o (2 13 14 , R 18 19 20 |
21 | 22 R 6 |27 28 (23 |30 ]
3 | 32 33 3 |35 | 36 | 37 { 38 | 39 a0 ]

a1 a2 (a3 aa Tas  Ja6 | a7 a8 |49 [s0

[1 [2 E = 6 K C [s | |
| 15
I

1. Aman sitting in a train travelling at the rate of 100 krmfhr observes that it takes 18seconds for a goods train travellfhp
in the opposite direction to pass him. If the goods train s 375 m long, find its speed?

AL 25 kmph B. 40 kmph C. 35 kmph D. 36 kmph

2. Two trains, 130 m and 110 m long, are going In the same direction. The faster train takes one minute to pass the other
completely. If they are moving in oppasite directions, they pass each other completely in 3 seconds. Find the speed of
the faster train?

A 3Emfs B. 46 m/s C.42m/s 0. None of these

3 Two trains running in opposite directions cross a man standing on the platform in 54 seconds and 34 seconds
respectively and they cross each other in 46 seconds. The ratio of theirr speeds 157

A.1:3 B.3:2 C3:4 D. None of these

4.4 boat running upstream covers a distance of 10 km in 30 minutes and while running downstreamn, it covers the same
distance in 25 min. What is the speed of the river current {in kmph)?

A. 2.5 kmph B. 2.2 kmph €. 2 kimph D. Can't say

5. Ram goes downstream from one port ta another in 4 h, He covers the same distance upstream in 5 b IF the speed of
the stream is 2 km/h, find the distance between the twa ports?

A 50 km B. G0 km C.70km (3, A0 km

6. Two boats, travelling at 7 ken/h and 8 km/h, head directly wswards each nther. They begin at a distance of 20 km from
each other, How far apart are they (in km) one minute before theycallide?

A 1712 km B 1/Gkm C.1/4 km . 1/3 kn
7. At his usual rawing rate, pAGlit can travel 12 rules downstream in a certain river i sichours less than it takes him o

travel the same distance upstream But if he could double his uswal rowing rate far this 29 mile round trip, the

downstream 12 miles would then take anly ane hour less than the upstream 12 miles. What s the speed of the currefnt

in miles per hour?
A.7/3 B 4/3 C 53 b 8/

8. A boat's speed In still water (s 15 ken/h While elver 5 owing with a speed of G hm/h and time taken to cover a certain
distance upstream is 2 homaore than tme taken W cover the same distance dowosteeam, Fiod the distance?
A 30.5km B. 31 km £ 315 bm D42k
9, To complete a work, A and B take 30 days, [ and € take 24 days, and Cand A take 20 days They all start together and
work for 5 days after which B and C leave. How many days will Abake to linish the cemalning work ?

1 p—— €33 D 18

A0\
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10. A can do a job in 20 days, 10 30 days and £ in 60 days. 1T Ads helped by B and € every drd day Hiras Tong will it take

far them to complete the job?

A 12 days [V A days C. 15 days 0. 14 days
11 1 a soldier fires 7 shots from a gun in 12 minutes then find the total mumber of shots fired by the man in 3/2 hrs
A. 45 0. a4 C. 46 D A7

12. A woman fills a bucket in 6 minutes, 1845 buckets have to Le filled from B am. 1o 10-30 am, How many woman

employees should be emplayed for this task?

A B 117 € 139 0. 123

13, A proup of men decided to do a joli in 4 days But since 20 men dropped out every day, the job co mpleted at the end
of the 7th day, How many men were there at the beginning? '
A. 240 8. 140 C. 280 D. 150

14. C is twice elficient as A, B takes thrice as many days as C. A takes 12 days 10 finish the work alane. If they work in
pairs (i.e., AB, BC, CA) starting with Al an the first day then BC on the secand day and AC on the third and s0 an, then
how many days are required to finish the work?

A6 (1/5) B 4.5 c.8 0.5(1/9] 7
15. The work done by a man, a woman and a child isin the ratio of 3 : 2 : 1. There are 20 men, 30 women and 36
children in a factory. Their weekly wages amaunt to Rs 780, which is divided in the ratio of work done by the men,
women and children. What will be the wages of 15 men, 21 wamen and 30 children for 2 woeks?

A Rs 1170 B.Rs 292.5 C. Rs 585 D. Bs 200

16. P can complete a work in 12 days working B hours a day. Q can complete the same work in B days wodking 10 hours 3
day. If both p and Q work together, working 8 hours a day, in how many days can they complete the work?

A.60/11 B.61/11 c.71/11 D.72/11

Directions (17-21): Study the following table carefully to answer the given questions

Classification of 50 Students based on the marks obtalned by them in Quants & Reasaning in Prelim exam

Mark Out of 100

Subject goand  70and  S0and  30and  Oand
above above above above above '
Quants 21 28 a7 43 50
Neasoning 12 32 15 19 50
Average(Aggreqgale) 15 22 i8 40 50 T

17. The number of students scoring lows than 30% marks in aggrefgate (s?

A 15 B.2.5 C.20 D.10

18. 1 it is known that at least 20 students were elighle Tor main exam, then the minimum gualifying marks in Reasoning
for eligitility to attend the maln exam(Top 20 students only can attend main exam i

A T0-20 B above B0 L 70-60 0. 50-30

19. The percentage of number of students scored 70% marks in Quants is what percentage of number of students scored

30% marksn aggrepate?

A GO% B. 70% C. 50% D. 75%
20. 1f at least S0 marks in aggregate are required for interview, how many students will ke eligible to attend interview?
A 50 ih. 40 C.20 (FRET!!

L6 °

_ I
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21. What is the different betwe

ef the number of students passed with 80 as cut-off marks In Quants and 30 a5 cut-aff !
marks in aggregate topether to no of students passed with 70 as cut off marks In agrrepate and 50 as cut off in
Reasoning?
e B.5 C8 D 6
Direction {22-2a) Study the following Infarmation carefully to answer the piven quistions
‘Online tests for IT Company interview’ 1s written as * 54 2060 120 101 308"
‘Questions for the Interview’ |s written as * 54 90} 120 213 !

Prepare for the Interview test’ s written as * 156 54 260 90 1200
Interview for IT company’ Is written as * 120308 54 210'
22. What is the code for ‘test’ in the given code language?

A 120 B, 260 C.1m b. 308

23. 308 is the code for which of the following?

Al Interview B. IT Company C. Online D, for

24. What is the cade for '‘prepare questions for test’?

A, 12054 101 54 B. 260 30853170 €. 90120101 213 D. 156 213 54 760
25, If 3rd December, 1990 1 Sunday, What day Is 3rd January 19917

A Sunday B. Monday C. Tuesday 0. Wednesday
2. What was the day of the week on 28th May, 20067

A Sunday B. Friday C. Wednesday D. Tuesday i
27. On 8th Dec, 2007 Saturday falls, What day of the week was it on 8th Dec, 20067

A, Saturday B. Frniday C. Monday D, Tuesday

28. Aclock is set night at 8 a.m. The clock gains 10 minutes in 24 hours will be the true time when the clock indicates 1
p.m. an the following day?

A, 48 min. past 12, B. 4G min. past 12, C. 45 min. past 12, 0. 47 min, past 12,
29. Find the angle between the hour hand and the minute hand of a clock when the time is 3.25 ’
A 475 degrees B.57.5 degrees C. 455 deprees 0555 deprees

30. An accurate clock shows 8 o'clock in the morning. Through how may degrees will the hour hand rotate when the
clock shows 2 o'clock in the afternoon?

A 360 B. 180 C. 90 0. 60

31. Though the raids on Spanish ships and towns were on a small scale, Sir Francls Drake achieved

success, adding gold and silver ta England’s treasury and diminishing Spain’ s supremacy,

AL Insipnificant B. Tempaorary C. Sipgnificant O, Ineffective

Choose a synonym for the word In BOLD in the following sentences:

32, If you don’t curtall your spending, you'll be broke in no time at all,

A. Reduce B. Follow C. Behind 0. Duy

33, We have rather lofty expectations for you, son! You will attend college, become rich and famous, and be elected as
President of the Umnited States before you turn forty,

A, High 0. Shaky C. Small I Lowly
14. How can we concentrate on serious issues [fyou keep dragging us towards the petty jssues?
A, Improved B. Healthy C. Focus 0. Happy
Directions for questions 35-38: Spot the part of the wentence thal containg an error, Mark option D 1 there is no error.
35, A. A big bougquel of flowers 0 wers given to the chiel guest, who
C. arrived at the venue. 0, No error ]

36. A, Why do we Insist on using [ accessories made Trom leather

s sulfer because of this? 0. No orcor

[ ME i o el iR,

0\
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i é\:f:;r::r::\:::::ns Cows 8. 15 conuderpd poarer than a farmer
33 A Slfnn}: winds HHI; hEa\.’ | D he o . o
y rains B, are likely to make life miserable
C. as an aftermath of hurricane Katrina. D. no errof
Cheose the correct options:
39. Every pale tomato slice, wilted pickle, and brown lettuce leaf an extra 25 cents at Bernie’s Burger
Emporium, .
A, Costs B. Cost C. Costed D. Had cost
40. The Smiths, along with Tenya, to avoid indigestion after eatingthese weird muffins.
A. Hopes 0. Hope C. Hoped 0. Had hoped
41. Grandpa claims that Martian measles green and purple spots to erupt all over a person’s body.
AL causes B. cause C. will cause D. had caused

42, Each of these women that she had read the care instructions before washing the delicate and exgensive
dresses,

A wishes B. wish C. wished D. would wish 7
Are the modifiers in these sentences correct or misplaced?

43, Place the plate in front of the diner with the meat, not the vegetables, facing the person.

A. Correct B. Misplaced C, Can't say D. Nane of these

44 We had almost thrown all our snowballs when our fort was charged by two frenzied redheads from the opposing

team.

A. Correct B. Misplaced C. Can't say D. None of these

45. The computer system almost cost 52,000, but Michel had enough money saved from his fire-eating gigs 1o pay the
bill in full.

A Correct B. Misplaced C. Can't say 0. None of these

Choose the correct options from the options given below:
46. The employee thought that the CEQ :

A. cheating B. is cheat C. cheated D. had cheated

47. See, how beautifully they . .
A are dancing B. Is dancing C, are danced D. have dancing

A8 The train when 1 arrived at the station.

A is just left B. s just leaving C. had just left D. has just left

two miles before reaching the post office.

49. She . I d
A. will have jopged B. will have jog C. will had jogged D. will jogge ’
[ k) with us for ten years.
50, This servant ...... {wor |
A, works B. has heen working C.is working 0. does work
Al

Direct DC !
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Max M nrl.;.-:-ll- A Time: 60 Mins foll No

———— Branch: FAA/EFB/HCM/BA/GOM )
'AStrUCtions: All questions are commmn Ton o T ———

are compubsory, Each question careles multiple options,
Answers are to be filled in the answer table only.

Ang !
Wers written outside the answer table won't be considered.
Answer Table:

No negative marking,

o N S S [ S A I R R
o S— S FF I T [15 16 BY 18 19~ 20 |
£ S TN R Y SN N E N A £ R £ R
A 12 Tx 3 35 36 |37 |38 39 la0 |
U J&2 [ [aa [ (a6 @ a8 (a9 50 |
Choose the carrect option in the following = = - e
1. Inagroup discussion , one must communicate with
A. Hostility B. Ignorance C. Knowledge D. Arrogance
2. Which of these must be avoided in a group discussion
A. Speaking Facts B. Asking questions  C. Speaking with clarity D. Deviating from the topic
3. Inagroup discussion a person who begins the discussion is called
A, Initiator B. Starter C. Beginner D. Moderator !
4. Which of the following is more interactive and solution oriented
A, Seminar B. Chalk board instruction
C. Llecture D. Group Discussion
5. The best way to apply for a job is to submit a resume that Is
A, Suilable for any job B. Self-recommending
C. Specifically wnitten for a particular job D. Persanal information only
6. The application [etter and the resume perform
A, Two different tasks B. Overlapping tasks  C. The same task D. Two opposite tasks
7. The résumé of a fresh praduate is generally
A. One page long B. Two pages long C. Half a pape D. Three pages long
8. The cover letteris
A. A loreword B. A summary of your qualifications and experiences '

C. A description of your care strengths and suitability for the job D, A statement of your job objective
9. A summary placed at the beginning of the resume acts as a

A. synopsis B. Career objective C. Preface D. Letter of recommendation
10. In an interview when you do not know an answer, you should
A. Keep guessing B. Bluff C. Admit that you do not know the answer D. Remain quidt

Fill up the blanks with appropriate option.
11. The teacher completed this chapter.
A. have B. has Cis D. are

12. Ramand Shyam business partners.

A. have B. has C.are D. had
13. She her office by 9 a.m. daily.

A, reach B. reaches C. reached D. reaching
14, Rahul and his friends __alsainvited to the party.

A.is B. was C. had D. were

b0
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required for the event,

15 A bouguel of Nowers -
A are B hawe C. has w8
16. Twenty years the minlmum age to il this form
A are 0 s £ has O have
17 Muth coeemecaeccees hpen said in the news teports
A werp Il have L. has 0. was
18, Eather of the two dresaes thall pood
A looking i, ook C lonks 0. lnoked
Choose the correct option
19 A0 the time of interview, [ewellery should be kept toa minimum
A True B, False C. Can't say D. Nane of these

20, We should be aware of all the fallowing graoming tips, except for
A face should be clean or well maintained
B. brush your teeth and have fresh breath
C. firm handshake as the best gesture for good impressian
D hands and nads should be well maintained,

21 What should not be included in your self- introduction

B, Your weakness ¢, Your fallures O. All of the above

A Very persanal Information
22. Shoes for both men and women should be:
A. Steel toed for protection B, Open-toed for camfort C. Brightly colaur 0. Clean and palished

231 Time management refers to a range

specific tasks, projects, and goals.
D. None af these

A True 0. False C.Can't Say
24 Which word means- " the time by which something must be completed™?
€. Goal D. Deadling

A Chaore A Consequence

75, Using a planner or making a "to-do™ list pvery day.
A s a waste of paper B. Helps keep things "in sight, in mind

€ Takes too long to fill out 0, None of the above

26. Tao spend your time productively, you need to have sel some
A Possthilities 0. ldeas €. Roundaries D. Goals
27. Efficient ime management includes

A. Doing the best tasks first, and the worst tasks last

B. Having a very structured schedule and not leaving  any room to be flexible

C. Being Mesible
[, Deing the worst tasks first while you're alert and not tired

78, Far a student, Hime management In college woulid mean

A You have 1o learn to manage your exlra Lime more elfliciently,
p. ¥ou have limited Hine in hand
€. You have too many artiwities ata time In hand

0. Al af the above are troe.
79 Using spare thme wisely Includes limiting the tme you spend on the internet, using a cell phone, etc

yr) What is NOT int Ided 1 the body language?

b Listesriing

C. Goestures 3, Faclal expressions

i fiody modeimnentt

11 u”d? l'""H”ﬂHI. [an F e ate
IL Indentinrs C, Fmotions DAl of these

aultined Torward facing someone [ehle ey
8 Superiarity C Disrespect D. Disinterest

A Ferlings
12 A head p

A Interesd
13 what should not be done at the time of Inferview?
) I Miscuoting lacls

A Reaching late
c. Golng unprepared D, All of the above

of skills, tools, and techniques used to manage time when accomphshing

!
QDOU\
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34, W,
'3t should yoy g while preparing for r

i an inte
h - an interviewy
S th the Company
i hecamp B. Learn the company’s vision and mission
35 Who shoutd & 'EW questions and answers 0. Allofthe abova

3 "
A The reception Ll Breeted in a friendly and respectful manner?

; is
A Th e i | B The secrelary C. The Interviewer D, Al of the above
A. Be specif| “TINg Interview questions, it is important to |
. Be ific

7 ne B. Be general C.Stretch the facts to look good D, Misquoting facts

very ;
Y answer you give, the employer Is looking for

U will saue th
S.ine C. How you will salve their prablem(s)

;3; F:.j“f You will save them manpey D. All of the above
N ;m::‘;:::ilr:f;:l[:r:::;lllir:-wmg 15 NOt a step in the preparation of an interview?
N ooy 8. Identifying your skills  C. Being negative D. Revising your subject

enview, you should
A. Try to find commaon interests
B. Look around the office for things,
C. Greet the interviewer with a smile.
D. All of the above

i

40. While attending the online interview you should not

A, Dress casually B. Keep your camera on

C. Keep the microphone off D. should be sitting at a well-lit place and attend

41. Interviews are conversations with

A, Fun B. Purpose C. Friendliness 0. Informality

42, Which of these is not a type of interview? /
A, Screening inlerview B. Stress interview C. Music interview D. Lunch interview

43. The best way to dress to impress for the interview is to
DIt doesn't matter what you wear

A. Wear jeans and T-shirt  B. Wear a jogging suit wear  C. A business suit
44, Gesture, posture, eye contact are examples of communication that is

A, Verbal B. Non- verbal C. Apgresive D, Polite
45. “You should be authentic in an interview"” means ta be
A. False B. Invalid C. surprising 0. Realistic '

46. Before your interview in a company you should
B, Get worked up

tlons in complete sentences or give one word answer?

C. Both D. Neither

A. Sit Idle C, Research D. None of the above
46. Should you answer interview ques

A. Complete sentences B. One word answers
47. Which of the following is not the part of a resume ?

A. Religious affiliation B. Employment History
-S Which of the following is the safest emall address style Lo use on your resume?
48, Whi

A. lovin ladies 123@emailprovider.com

B.] 5mith@emailpruvlder.cum '
& @emal]prnvider.cam

C .Contact Information D. Cducation

C. party all the time

of these i
D. nﬂnf? ¢ the following methods Is the best to know more about the person and his/ her fitment for a role? |
49. Which © C. Case Study 0. Survey Method

B. Interview |
N
I\ @09

A. Observation cide the colour of the belt (for men)?

jour of the shoe
hould match the co
B, the bEIt:hnuld match the colour of trousers
A ||t o 1d match the.m]_gu;ﬂflh! tie

50. What is the rule 10 de
A, always wear black
: CDHC S
Scanned with CamScanner
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ewtionyg arp ctompuliory [ach Question carmies muliple options

P allowed Answers are to be filled in the antwer table only
able won't be comidered,

Mive Mmarking Calcuwtator i (a18,

Antwery Written outside the OREWER |
Amiwer Table:

1 2 |3 | 4 5 |6 7 '8 K 10
n |12 13 1 15 16 ‘n 18 ‘19 20
RS 22 [ 23 |24 | 25 | 26 27 28 EL 30
31 12 ‘1 |3 15 36 }:_r 1 19 | 40
La | a2 a3 | a4 as | 46 |47 a8 49 50

1.1 a bus travels 320 km in B hry and a train travels 64
distance travelled by them in one hour?
AR & B5: B

0 kms in 10 hours at uniform speed, then what is the ratio of ]

o Ca 5 D. 1:2
2 Wohan reaches his fan ory 3 minutes late if his speed from hiy house of the f
ol 6 km/fhr, then he reachies the factory 7 minutes early The dist
A GEm B 5km C.7km

3 1 atrain runs

actory (s 5 km/hre 1 he walks at 3 speed
ance of the factory from his house s ?

0 8hkm
at 20 kmifhe, it reaches s destinatpn late by 22 min. bt if it

runs at 30 km/hr it is late by 10 min anly
The correct time for the train to complete its Journey i ?

A 14 mun B 10 min C 19 min 0. 21 min,
& L person orovies a 1200 m long street in 10 minutes Wit is hiv speed in kmph?
A 36Gkmph B 72 kmph C®Akmph 010 kmphy

% Btrain covers a distance i S0ominutes, il il runs ol a tpeed of 48 kimph on anaverage. The wpeed at which the train
rrogst run to reduce the tme of joutney 10 40 minty is?

£ 70 krnph 0 f) ke LSS kmph 6% kil

G A car travels the Legt one thard of @ certain distance with aspeed of 10 kin/ln, the nesy e thii g

distance with a
sppeed oA 20 krnfhe and the last one thied distance with a spreed of 6 kinfly The

average speed of the car for the whole
jerarritey it f

A 1B kenph B 24 kimpih CAkmph 00 Y0 by

7 Atran travels at acertain avetage speed for o distance of b3 kmand then tavels a distance of 7) hm at an edage

speed of G krnpb e than e onginagl speed 101 tabes | Bews 1o complete 1he 1o a1 Jouimey, wh

At v the aignal “.1,“
ol The teain i bmphi
Ao 24 kmph A4 bl € A2 kinph 0 6 kil

B 1 a flight of GO0 keran andralt was dowed down due to lisd we ither s average spoed fo

the tiip was reduced by
700 krnph and the Hime Gl Mighb ant tw sl by 200 it Th bt at o ol ths

Mlighn iy
A 1hr 02 [ BT 04w

(-0°
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9. A
Car covers four successive 6 km stretches at 20 km/hr, 40 km/hr, 60 km/fhr and
pecd over this distance Is?

A 20 kmph

a0 km/hr respectively, It averape

.30 kmph C. 355 kmph 040 kmph

10 M
.Nand Qcan complete the work in 18, 36 and 54 days respectively. M started the work and worked for B days,

then N and O Joined him and they all worked together for some days. M left the job one day belore completion of work
For how many days they all worked together?

Aq B.S C3 06

11. Paul and Bipin together can do a piece of work In B days. If Paul alone can do the same wark in 12 days, then Bipirg
alone can do the same work in?

AL 20 days B. 16 days C. 24 days D. 28 days

12. To complete a work, a person Ram takes 10 days and another person Bikas takes 15 days. If they work together, in
how much time will they complete the work?

A. 2 days B. 6 days C. 4 days D. 8 days

13. Two friends Aman and Raghav working together can complete an assipnment in 4 days, IF Aman can do the
assignment alone in 12 days, in how many days can Raghav alone do the assignment?

A, 2 days B. 6 days C. 4 days D. 8 days

14. P can do a plece of work in 4 days. Q can do it in 5 days. With the assistance of R they completed the work in 2 days.
Find in how many days can R alone do it?

A, 10 days B. 20 days C. 5 days b. 4 days

15. After working for 6 days, Ashok finds that only 1/3" of tha work has been done. He employs Ravi who is 60% as
efficient as Ashok. How many days more would Ravi take to complete the work?

A, 19 days B. 10 days C. 20 days 0. 12 days

16. Three taps A, Band Ccan fill a tank in 12, 15 and 20 hours respectively. If Ais open all the time and B and C are open
for one hour each alternately, the tank will be full in:

A. 20/3 hours B. & hours C. 15/2 hours D. 7 hours .
17. A large tanker can be filled by two pipes A and B in 60 mlnutr_-sl and 40 minutes rcspn:thlvn:v. }ti:war::‘al::vhr;'ﬁl}r;u (3 wi
it take to fill the tanker from empty ctate if B s used for half the time; A and B Aill it together for the

g, 20 min C. 27.5 min 0. 10 min

S koai + tank in 6 hours. After working at it together for 2 hours, Cis closed and A and 8 can

18. Three pipes A, Band Ccan fill

fill the remaining part in T hours.

A.10 O g d a waste pi

19. Two pipes can fill a tank in 25 and 30 minutes rnsPuctiuerv and a '-"'*It :‘”w 2
i o5 working together can fill the tank in 15 minutes. The capacity o '

three pip 8. 450 gallans €. 120 gallons D, 150 gallons 1 : hl \

A, 250 gations l fill a iank in 15 minutes and 40 minutes respectively, Both the pipes are opened together bu

20. Two Fflpk"_"i p and Dpj:‘:um;d off Whal is the total time required to fill the tank?

after 4 mlr;l.;te:;lllpe & 38 min 20 36C C. 2% min 20 sec D, 20 min 10 sec

A. 10 min 105 :

e COUN oded A ow (s GUIDANCE writien in that code?
i UNSLL s coded as HITIRAK, h s
21.1tin @ e > " C, RIYRHID [, rOHYZIng

The number of hours taken by C alone to fill the tank?
D, 16
pe can emply 3 gallons per minute. Al the

i g, 4 15 TWELVE written In that
; " i 863985 and [LIVEN Is written as 3230349, how
i I de TWENTY s written as 9

72 Ifina certain code,
: u? B6 0 C. 863203 0. 320368 .
23.1n £ L ' ! ; : "means 'rose and

A ; de | :uage '‘B51" means ‘good sweet fruit’, ‘7R3 means gnud red rose and '341

rtain code lan f ' : ?

". | wa ch'chufthe following diglts stands for sweet' In thal lanpuage .

fr itl' . B‘! :h4 D. '

A2 -

. AX

Scanned with CamScanner



24.1n a certain code language, ‘col tip mot’ means ‘singing 1s appreciable’, ‘mot baj min® means ‘dancing s good' and 'tip
nep baj" means "unging and dancing’, then, which of the following means 'good” in that code language ?

AL Not B Baj C Nin 0. Nop

254 DELHI s coded as CTIDD, how would you encode BOMBAY?

AL AINTVT B AMIXVS C. MIXVSU D. WXYZAX

26 It in a cerain language. SHIFT is coded as RFFRO. which word would be coded as LKUMB?

A NMMEQG B. MLVNC C. KIVLA 0. MIVLE

27.1n a certain code, RIPPLE is written as 513382 and LIFE is written as 8192, How s PILLER written in that code?
A 31E826 B. 318286 C 618816 0. 338316

28, If PALAM could be given the code number 43, what code number can be given to SANTACRUZ?

A 75 B, 85 C. 120 D. 123

29. If ‘gnr tag zog gmp’ stands for “Seou! Olympic Organising committee’, "hyto gar emf’ stands for “summer Olympic
games' and ‘esm sdr hyto’ stands for ‘modern games history’, what would be the code for ‘summer'?

A hyto B gnr C.emf D. zog

30 112 =52 and ACT = 48, then BAT will be equal to

A 39 8 a1 C. a4 0. 46

Direction (31-35) Choose the correct form of Verb that Is in agreement with the subject- 1
31. She her office by 9 a.m. daily,

A reach 8. reaches C. reached D. reaching

32. The Information which obtained from the business owners relevant to be included in the
study.

A, has, 15 8. had. has C. has, have D.ls, s

33. The student or the committee members everyday and each of the members most welcome
for that.

A, write, are B. write, is C.owrites, s D, write, were i
14. Shubham as well as hus brothers coming, today,

A are B. had been Cls D. have been

15. Prachi is ane al the students who passed the exam,

A have B has C. had been 0. would have

Direction [36-39) Choose the correct answer fram the options glven below- i
16 Why you should be lstening 1o me?

A, you talk B, you are talking C. do you talk 0. are you talking

17 You inta things and break them. How can someone be so clumsy?

A are always bumping B, always bumps L. always bumplng 0. always bump

18, | working all afternoon. have |ust linlshed the assignment,

A have been f. had been C. shall be b.am !
39, By the next month, we shall the project.
A has completed B rompleting C. completed 0. have completed

Direction (40-41) Choose the correct sentence,
40. A. When | woke ufi, he hay already eoten broaklast,

B, When | woke up, he had already eaten broakiast,
C. When I had woken up, he had already caten breakfast,
0. When | had woken up, he has already eaten breakfast,

- r"\%

Scanned with CamScanner




41 AM
. onmik;
B mun,kul| .: likes playing Ludo, carroms, and play chess
iy ll es playing Ludo, play carroms, and to play chess
5 o kﬂ ihes playing Ludo, carroms, and chess -
Mk " .
mmcnon}{::ts 1o play Ludo, carroms, and playing chess,
42 The art -45) Choose the correct answer from the options given below:
o T- studio (s spacious, pleasantly cluttered
.and has pood g i Coandisitwel D.and
o pood lighting 8. and being welklit — Coandislit well D, and well-lit
or lunch L would Yike |

A. fri '
ol N ey et
= ’ : : 0. None af the above.
ay to avoid misplaced modifiers is to place the madifier close to the ward it modifies.
A, True. B. False C. Can'tsay 0. None of these
45. Which word is being modified? His costume, which was quite aripinal, was just 2 cardboard box,
A. costume B large C. cardhoard D. original

in the following the questions choose the word which best expresses the meaning of the given word.

46. CORPULENT-

A, Lean B. Gaunt C. Emaciated D. Obese
a7. Brief-
A. Limited g. small C. Little D. Short
48- Alert-

D, Observant

g, Watchful C. Intelligent
d or a phrase which is und
g of the word or phrase un

grlined. Itis followed by four words or phrases. Select

derlined.

A, Energetic
Each sentence
the word of phrase W

below consists of a wor
hich is the OPPOSITE in the meanin

¢ island were barbarians.

a9. The inhabitants of th
Al civilized @ cruel c. uncivilized D. bad
50, The members thought that the task was feasible. ’
A urtl'r:nsnblr:. B. impossible C. difficult D. imprncumblo
F’J-
!
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Semester: 5 Subject: PCE-INI NAME ..
Subject Code: CDO301 Time: 60 Mins Roll No -
Max Marks 50 Seamon . [I At |upi£;.-,“ Branch: CST/ME/ECE

Instructions: All questions are compulsary. Lach question carries multiple aptions.
Mo nepative marking, Caleulator is not allowed. Answers ore to be filled in the answer table only.

Answers written outside the answer table won't be considered.
Answer Table:

o (2 13 14 , R 18 19 20 |
21 | 22 R 6 |27 28 (23 |30 ]
3 | 32 33 3 |35 | 36 | 37 { 38 | 39 a0 ]

a1 a2 (a3 aa Tas  Ja6 | a7 a8 |49 [s0

[1 [2 E = 6 K C [s | |
| 15
I

1. Aman sitting in a train travelling at the rate of 100 krmfhr observes that it takes 18seconds for a goods train travellfhp
in the opposite direction to pass him. If the goods train s 375 m long, find its speed?

AL 25 kmph B. 40 kmph C. 35 kmph D. 36 kmph

2. Two trains, 130 m and 110 m long, are going In the same direction. The faster train takes one minute to pass the other
completely. If they are moving in oppasite directions, they pass each other completely in 3 seconds. Find the speed of
the faster train?

A 3Emfs B. 46 m/s C.42m/s 0. None of these

3 Two trains running in opposite directions cross a man standing on the platform in 54 seconds and 34 seconds
respectively and they cross each other in 46 seconds. The ratio of theirr speeds 157

A.1:3 B.3:2 C3:4 D. None of these

4.4 boat running upstream covers a distance of 10 km in 30 minutes and while running downstreamn, it covers the same
distance in 25 min. What is the speed of the river current {in kmph)?

A. 2.5 kmph B. 2.2 kmph €. 2 kimph D. Can't say

5. Ram goes downstream from one port ta another in 4 h, He covers the same distance upstream in 5 b IF the speed of
the stream is 2 km/h, find the distance between the twa ports?

A 50 km B. G0 km C.70km (3, A0 km

6. Two boats, travelling at 7 ken/h and 8 km/h, head directly wswards each nther. They begin at a distance of 20 km from
each other, How far apart are they (in km) one minute before theycallide?

A 1712 km B 1/Gkm C.1/4 km . 1/3 kn
7. At his usual rawing rate, pAGlit can travel 12 rules downstream in a certain river i sichours less than it takes him o

travel the same distance upstream But if he could double his uswal rowing rate far this 29 mile round trip, the

downstream 12 miles would then take anly ane hour less than the upstream 12 miles. What s the speed of the currefnt

in miles per hour?
A.7/3 B 4/3 C 53 b 8/

8. A boat's speed In still water (s 15 ken/h While elver 5 owing with a speed of G hm/h and time taken to cover a certain
distance upstream is 2 homaore than tme taken W cover the same distance dowosteeam, Fiod the distance?
A 30.5km B. 31 km £ 315 bm D42k
9, To complete a work, A and B take 30 days, [ and € take 24 days, and Cand A take 20 days They all start together and
work for 5 days after which B and C leave. How many days will Abake to linish the cemalning work ?

1 p—— €33 D 18

A0\
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10. A can do a job in 20 days, 10 30 days and £ in 60 days. 1T Ads helped by B and € every drd day Hiras Tong will it take

far them to complete the job?

A 12 days [V A days C. 15 days 0. 14 days
11 1 a soldier fires 7 shots from a gun in 12 minutes then find the total mumber of shots fired by the man in 3/2 hrs
A. 45 0. a4 C. 46 D A7

12. A woman fills a bucket in 6 minutes, 1845 buckets have to Le filled from B am. 1o 10-30 am, How many woman

employees should be emplayed for this task?

A B 117 € 139 0. 123

13, A proup of men decided to do a joli in 4 days But since 20 men dropped out every day, the job co mpleted at the end
of the 7th day, How many men were there at the beginning? '
A. 240 8. 140 C. 280 D. 150

14. C is twice elficient as A, B takes thrice as many days as C. A takes 12 days 10 finish the work alane. If they work in
pairs (i.e., AB, BC, CA) starting with Al an the first day then BC on the secand day and AC on the third and s0 an, then
how many days are required to finish the work?

A6 (1/5) B 4.5 c.8 0.5(1/9] 7
15. The work done by a man, a woman and a child isin the ratio of 3 : 2 : 1. There are 20 men, 30 women and 36
children in a factory. Their weekly wages amaunt to Rs 780, which is divided in the ratio of work done by the men,
women and children. What will be the wages of 15 men, 21 wamen and 30 children for 2 woeks?

A Rs 1170 B.Rs 292.5 C. Rs 585 D. Bs 200

16. P can complete a work in 12 days working B hours a day. Q can complete the same work in B days wodking 10 hours 3
day. If both p and Q work together, working 8 hours a day, in how many days can they complete the work?

A.60/11 B.61/11 c.71/11 D.72/11

Directions (17-21): Study the following table carefully to answer the given questions

Classification of 50 Students based on the marks obtalned by them in Quants & Reasaning in Prelim exam

Mark Out of 100

Subject goand  70and  S0and  30and  Oand
above above above above above '
Quants 21 28 a7 43 50
Neasoning 12 32 15 19 50
Average(Aggreqgale) 15 22 i8 40 50 T

17. The number of students scoring lows than 30% marks in aggrefgate (s?

A 15 B.2.5 C.20 D.10

18. 1 it is known that at least 20 students were elighle Tor main exam, then the minimum gualifying marks in Reasoning
for eligitility to attend the maln exam(Top 20 students only can attend main exam i

A T0-20 B above B0 L 70-60 0. 50-30

19. The percentage of number of students scored 70% marks in Quants is what percentage of number of students scored

30% marksn aggrepate?

A GO% B. 70% C. 50% D. 75%
20. 1f at least S0 marks in aggregate are required for interview, how many students will ke eligible to attend interview?
A 50 ih. 40 C.20 (FRET!!

L6 °
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21. What is the different betwe

ef the number of students passed with 80 as cut-off marks In Quants and 30 a5 cut-aff !
marks in aggregate topether to no of students passed with 70 as cut off marks In agrrepate and 50 as cut off in
Reasoning?
e B.5 C8 D 6
Direction {22-2a) Study the following Infarmation carefully to answer the piven quistions
‘Online tests for IT Company interview’ 1s written as * 54 2060 120 101 308"
‘Questions for the Interview’ |s written as * 54 90} 120 213 !

Prepare for the Interview test’ s written as * 156 54 260 90 1200
Interview for IT company’ Is written as * 120308 54 210'
22. What is the code for ‘test’ in the given code language?

A 120 B, 260 C.1m b. 308

23. 308 is the code for which of the following?

Al Interview B. IT Company C. Online D, for

24. What is the cade for '‘prepare questions for test’?

A, 12054 101 54 B. 260 30853170 €. 90120101 213 D. 156 213 54 760
25, If 3rd December, 1990 1 Sunday, What day Is 3rd January 19917

A Sunday B. Monday C. Tuesday 0. Wednesday
2. What was the day of the week on 28th May, 20067

A Sunday B. Friday C. Wednesday D. Tuesday i
27. On 8th Dec, 2007 Saturday falls, What day of the week was it on 8th Dec, 20067

A, Saturday B. Frniday C. Monday D, Tuesday

28. Aclock is set night at 8 a.m. The clock gains 10 minutes in 24 hours will be the true time when the clock indicates 1
p.m. an the following day?

A, 48 min. past 12, B. 4G min. past 12, C. 45 min. past 12, 0. 47 min, past 12,
29. Find the angle between the hour hand and the minute hand of a clock when the time is 3.25 ’
A 475 degrees B.57.5 degrees C. 455 deprees 0555 deprees

30. An accurate clock shows 8 o'clock in the morning. Through how may degrees will the hour hand rotate when the
clock shows 2 o'clock in the afternoon?

A 360 B. 180 C. 90 0. 60

31. Though the raids on Spanish ships and towns were on a small scale, Sir Francls Drake achieved

success, adding gold and silver ta England’s treasury and diminishing Spain’ s supremacy,

AL Insipnificant B. Tempaorary C. Sipgnificant O, Ineffective

Choose a synonym for the word In BOLD in the following sentences:

32, If you don’t curtall your spending, you'll be broke in no time at all,

A. Reduce B. Follow C. Behind 0. Duy

33, We have rather lofty expectations for you, son! You will attend college, become rich and famous, and be elected as
President of the Umnited States before you turn forty,

A, High 0. Shaky C. Small I Lowly
14. How can we concentrate on serious issues [fyou keep dragging us towards the petty jssues?
A, Improved B. Healthy C. Focus 0. Happy
Directions for questions 35-38: Spot the part of the wentence thal containg an error, Mark option D 1 there is no error.
35, A. A big bougquel of flowers 0 wers given to the chiel guest, who
C. arrived at the venue. 0, No error ]

36. A, Why do we Insist on using [ accessories made Trom leather

s sulfer because of this? 0. No orcor

[ ME i o el iR,
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i é\:f:;r::r::\:::::ns Cows 8. 15 conuderpd poarer than a farmer
33 A Slfnn}: winds HHI; hEa\.’ | D he o . o
y rains B, are likely to make life miserable
C. as an aftermath of hurricane Katrina. D. no errof
Cheose the correct options:
39. Every pale tomato slice, wilted pickle, and brown lettuce leaf an extra 25 cents at Bernie’s Burger
Emporium, .
A, Costs B. Cost C. Costed D. Had cost
40. The Smiths, along with Tenya, to avoid indigestion after eatingthese weird muffins.
A. Hopes 0. Hope C. Hoped 0. Had hoped
41. Grandpa claims that Martian measles green and purple spots to erupt all over a person’s body.
AL causes B. cause C. will cause D. had caused

42, Each of these women that she had read the care instructions before washing the delicate and exgensive
dresses,

A wishes B. wish C. wished D. would wish 7
Are the modifiers in these sentences correct or misplaced?

43, Place the plate in front of the diner with the meat, not the vegetables, facing the person.

A. Correct B. Misplaced C, Can't say D. Nane of these

44 We had almost thrown all our snowballs when our fort was charged by two frenzied redheads from the opposing

team.

A. Correct B. Misplaced C. Can't say D. None of these

45. The computer system almost cost 52,000, but Michel had enough money saved from his fire-eating gigs 1o pay the
bill in full.

A Correct B. Misplaced C. Can't say 0. None of these

Choose the correct options from the options given below:
46. The employee thought that the CEQ :

A. cheating B. is cheat C. cheated D. had cheated

47. See, how beautifully they . .
A are dancing B. Is dancing C, are danced D. have dancing

A8 The train when 1 arrived at the station.

A is just left B. s just leaving C. had just left D. has just left

two miles before reaching the post office.

49. She . I d
A. will have jopged B. will have jog C. will had jogged D. will jogge ’
[ k) with us for ten years.
50, This servant ...... {wor |
A, works B. has heen working C.is working 0. does work
Al

Direct DC !

Yol 'd
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ATSENLNEns | UNIVERSIT Y A

:E;:]:::Ffrnr; Subject: POP V NAME: ..o !
Max M nrl.;.-:-ll- A Time: 60 Mins foll No

———— Branch: FAA/EFB/HCM/BA/GOM )
'AStrUCtions: All questions are commmn Ton o T ———

are compubsory, Each question careles multiple options,
Answers are to be filled in the answer table only.

Ang !
Wers written outside the answer table won't be considered.
Answer Table:

No negative marking,

o N S S [ S A I R R
o S— S FF I T [15 16 BY 18 19~ 20 |
£ S TN R Y SN N E N A £ R £ R
A 12 Tx 3 35 36 |37 |38 39 la0 |
U J&2 [ [aa [ (a6 @ a8 (a9 50 |
Choose the carrect option in the following = = - e
1. Inagroup discussion , one must communicate with
A. Hostility B. Ignorance C. Knowledge D. Arrogance
2. Which of these must be avoided in a group discussion
A. Speaking Facts B. Asking questions  C. Speaking with clarity D. Deviating from the topic
3. Inagroup discussion a person who begins the discussion is called
A, Initiator B. Starter C. Beginner D. Moderator !
4. Which of the following is more interactive and solution oriented
A, Seminar B. Chalk board instruction
C. Llecture D. Group Discussion
5. The best way to apply for a job is to submit a resume that Is
A, Suilable for any job B. Self-recommending
C. Specifically wnitten for a particular job D. Persanal information only
6. The application [etter and the resume perform
A, Two different tasks B. Overlapping tasks  C. The same task D. Two opposite tasks
7. The résumé of a fresh praduate is generally
A. One page long B. Two pages long C. Half a pape D. Three pages long
8. The cover letteris
A. A loreword B. A summary of your qualifications and experiences '

C. A description of your care strengths and suitability for the job D, A statement of your job objective
9. A summary placed at the beginning of the resume acts as a

A. synopsis B. Career objective C. Preface D. Letter of recommendation
10. In an interview when you do not know an answer, you should
A. Keep guessing B. Bluff C. Admit that you do not know the answer D. Remain quidt

Fill up the blanks with appropriate option.
11. The teacher completed this chapter.
A. have B. has Cis D. are

12. Ramand Shyam business partners.

A. have B. has C.are D. had
13. She her office by 9 a.m. daily.

A, reach B. reaches C. reached D. reaching
14, Rahul and his friends __alsainvited to the party.

A.is B. was C. had D. were

b0
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required for the event,

15 A bouguel of Nowers -
A are B hawe C. has w8
16. Twenty years the minlmum age to il this form
A are 0 s £ has O have
17 Muth coeemecaeccees hpen said in the news teports
A werp Il have L. has 0. was
18, Eather of the two dresaes thall pood
A looking i, ook C lonks 0. lnoked
Choose the correct option
19 A0 the time of interview, [ewellery should be kept toa minimum
A True B, False C. Can't say D. Nane of these

20, We should be aware of all the fallowing graoming tips, except for
A face should be clean or well maintained
B. brush your teeth and have fresh breath
C. firm handshake as the best gesture for good impressian
D hands and nads should be well maintained,

21 What should not be included in your self- introduction

B, Your weakness ¢, Your fallures O. All of the above

A Very persanal Information
22. Shoes for both men and women should be:
A. Steel toed for protection B, Open-toed for camfort C. Brightly colaur 0. Clean and palished

231 Time management refers to a range

specific tasks, projects, and goals.
D. None af these

A True 0. False C.Can't Say
24 Which word means- " the time by which something must be completed™?
€. Goal D. Deadling

A Chaore A Consequence

75, Using a planner or making a "to-do™ list pvery day.
A s a waste of paper B. Helps keep things "in sight, in mind

€ Takes too long to fill out 0, None of the above

26. Tao spend your time productively, you need to have sel some
A Possthilities 0. ldeas €. Roundaries D. Goals
27. Efficient ime management includes

A. Doing the best tasks first, and the worst tasks last

B. Having a very structured schedule and not leaving  any room to be flexible

C. Being Mesible
[, Deing the worst tasks first while you're alert and not tired

78, Far a student, Hime management In college woulid mean

A You have 1o learn to manage your exlra Lime more elfliciently,
p. ¥ou have limited Hine in hand
€. You have too many artiwities ata time In hand

0. Al af the above are troe.
79 Using spare thme wisely Includes limiting the tme you spend on the internet, using a cell phone, etc

yr) What is NOT int Ided 1 the body language?

b Listesriing

C. Goestures 3, Faclal expressions

i fiody modeimnentt

11 u”d? l'""H”ﬂHI. [an F e ate
IL Indentinrs C, Fmotions DAl of these

aultined Torward facing someone [ehle ey
8 Superiarity C Disrespect D. Disinterest

A Ferlings
12 A head p

A Interesd
13 what should not be done at the time of Inferview?
) I Miscuoting lacls

A Reaching late
c. Golng unprepared D, All of the above

of skills, tools, and techniques used to manage time when accomphshing

!
QDOU\
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34, W,
'3t should yoy g while preparing for r

i an inte
h - an interviewy
S th the Company
i hecamp B. Learn the company’s vision and mission
35 Who shoutd & 'EW questions and answers 0. Allofthe abova

3 "
A The reception Ll Breeted in a friendly and respectful manner?

; is
A Th e i | B The secrelary C. The Interviewer D, Al of the above
A. Be specif| “TINg Interview questions, it is important to |
. Be ific

7 ne B. Be general C.Stretch the facts to look good D, Misquoting facts

very ;
Y answer you give, the employer Is looking for

U will saue th
S.ine C. How you will salve their prablem(s)

;3; F:.j“f You will save them manpey D. All of the above
N ;m::‘;:::ilr:f;:l[:r:::;lllir:-wmg 15 NOt a step in the preparation of an interview?
N ooy 8. Identifying your skills  C. Being negative D. Revising your subject

enview, you should
A. Try to find commaon interests
B. Look around the office for things,
C. Greet the interviewer with a smile.
D. All of the above

i

40. While attending the online interview you should not

A, Dress casually B. Keep your camera on

C. Keep the microphone off D. should be sitting at a well-lit place and attend

41. Interviews are conversations with

A, Fun B. Purpose C. Friendliness 0. Informality

42, Which of these is not a type of interview? /
A, Screening inlerview B. Stress interview C. Music interview D. Lunch interview

43. The best way to dress to impress for the interview is to
DIt doesn't matter what you wear

A. Wear jeans and T-shirt  B. Wear a jogging suit wear  C. A business suit
44, Gesture, posture, eye contact are examples of communication that is

A, Verbal B. Non- verbal C. Apgresive D, Polite
45. “You should be authentic in an interview"” means ta be
A. False B. Invalid C. surprising 0. Realistic '

46. Before your interview in a company you should
B, Get worked up

tlons in complete sentences or give one word answer?

C. Both D. Neither

A. Sit Idle C, Research D. None of the above
46. Should you answer interview ques

A. Complete sentences B. One word answers
47. Which of the following is not the part of a resume ?

A. Religious affiliation B. Employment History
-S Which of the following is the safest emall address style Lo use on your resume?
48, Whi

A. lovin ladies 123@emailprovider.com

B.] 5mith@emailpruvlder.cum '
& @emal]prnvider.cam

C .Contact Information D. Cducation

C. party all the time

of these i
D. nﬂnf? ¢ the following methods Is the best to know more about the person and his/ her fitment for a role? |
49. Which © C. Case Study 0. Survey Method

B. Interview |
N
I\ @09

A. Observation cide the colour of the belt (for men)?

jour of the shoe
hould match the co
B, the bEIt:hnuld match the colour of trousers
A ||t o 1d match the.m]_gu;ﬂflh! tie

50. What is the rule 10 de
A, always wear black
: CDHC S
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- _ Subject Career Sl HNAMI
U0 Coop CDOApa Time 40 Ming
LY 1Y h'nrh-_ S0

Holl M

Vi Valdes s Aranch Phy/Chem/Mathy

"“'Ifl"l.r["['-pn‘- Al oL

No Ll

ewtionyg arp ctompuliory [ach Question carmies muliple options

P allowed Answers are to be filled in the antwer table only
able won't be comidered,

Mive Mmarking Calcuwtator i (a18,

Antwery Written outside the OREWER |
Amiwer Table:

1 2 |3 | 4 5 |6 7 '8 K 10
n |12 13 1 15 16 ‘n 18 ‘19 20
RS 22 [ 23 |24 | 25 | 26 27 28 EL 30
31 12 ‘1 |3 15 36 }:_r 1 19 | 40
La | a2 a3 | a4 as | 46 |47 a8 49 50

1.1 a bus travels 320 km in B hry and a train travels 64
distance travelled by them in one hour?
AR & B5: B

0 kms in 10 hours at uniform speed, then what is the ratio of ]

o Ca 5 D. 1:2
2 Wohan reaches his fan ory 3 minutes late if his speed from hiy house of the f
ol 6 km/fhr, then he reachies the factory 7 minutes early The dist
A GEm B 5km C.7km

3 1 atrain runs

actory (s 5 km/hre 1 he walks at 3 speed
ance of the factory from his house s ?

0 8hkm
at 20 kmifhe, it reaches s destinatpn late by 22 min. bt if it

runs at 30 km/hr it is late by 10 min anly
The correct time for the train to complete its Journey i ?

A 14 mun B 10 min C 19 min 0. 21 min,
& L person orovies a 1200 m long street in 10 minutes Wit is hiv speed in kmph?
A 36Gkmph B 72 kmph C®Akmph 010 kmphy

% Btrain covers a distance i S0ominutes, il il runs ol a tpeed of 48 kimph on anaverage. The wpeed at which the train
rrogst run to reduce the tme of joutney 10 40 minty is?

£ 70 krnph 0 f) ke LSS kmph 6% kil

G A car travels the Legt one thard of @ certain distance with aspeed of 10 kin/ln, the nesy e thii g

distance with a
sppeed oA 20 krnfhe and the last one thied distance with a spreed of 6 kinfly The

average speed of the car for the whole
jerarritey it f

A 1B kenph B 24 kimpih CAkmph 00 Y0 by

7 Atran travels at acertain avetage speed for o distance of b3 kmand then tavels a distance of 7) hm at an edage

speed of G krnpb e than e onginagl speed 101 tabes | Bews 1o complete 1he 1o a1 Jouimey, wh

At v the aignal “.1,“
ol The teain i bmphi
Ao 24 kmph A4 bl € A2 kinph 0 6 kil

B 1 a flight of GO0 keran andralt was dowed down due to lisd we ither s average spoed fo

the tiip was reduced by
700 krnph and the Hime Gl Mighb ant tw sl by 200 it Th bt at o ol ths

Mlighn iy
A 1hr 02 [ BT 04w

(-0°
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9. A
Car covers four successive 6 km stretches at 20 km/hr, 40 km/hr, 60 km/fhr and
pecd over this distance Is?

A 20 kmph

a0 km/hr respectively, It averape

.30 kmph C. 355 kmph 040 kmph

10 M
.Nand Qcan complete the work in 18, 36 and 54 days respectively. M started the work and worked for B days,

then N and O Joined him and they all worked together for some days. M left the job one day belore completion of work
For how many days they all worked together?

Aq B.S C3 06

11. Paul and Bipin together can do a piece of work In B days. If Paul alone can do the same wark in 12 days, then Bipirg
alone can do the same work in?

AL 20 days B. 16 days C. 24 days D. 28 days

12. To complete a work, a person Ram takes 10 days and another person Bikas takes 15 days. If they work together, in
how much time will they complete the work?

A. 2 days B. 6 days C. 4 days D. 8 days

13. Two friends Aman and Raghav working together can complete an assipnment in 4 days, IF Aman can do the
assignment alone in 12 days, in how many days can Raghav alone do the assignment?

A, 2 days B. 6 days C. 4 days D. 8 days

14. P can do a plece of work in 4 days. Q can do it in 5 days. With the assistance of R they completed the work in 2 days.
Find in how many days can R alone do it?

A, 10 days B. 20 days C. 5 days b. 4 days

15. After working for 6 days, Ashok finds that only 1/3" of tha work has been done. He employs Ravi who is 60% as
efficient as Ashok. How many days more would Ravi take to complete the work?

A, 19 days B. 10 days C. 20 days 0. 12 days

16. Three taps A, Band Ccan fill a tank in 12, 15 and 20 hours respectively. If Ais open all the time and B and C are open
for one hour each alternately, the tank will be full in:

A. 20/3 hours B. & hours C. 15/2 hours D. 7 hours .
17. A large tanker can be filled by two pipes A and B in 60 mlnutr_-sl and 40 minutes rcspn:thlvn:v. }ti:war::‘al::vhr;'ﬁl}r;u (3 wi
it take to fill the tanker from empty ctate if B s used for half the time; A and B Aill it together for the

g, 20 min C. 27.5 min 0. 10 min

S koai + tank in 6 hours. After working at it together for 2 hours, Cis closed and A and 8 can

18. Three pipes A, Band Ccan fill

fill the remaining part in T hours.

A.10 O g d a waste pi

19. Two pipes can fill a tank in 25 and 30 minutes rnsPuctiuerv and a '-"'*It :‘”w 2
i o5 working together can fill the tank in 15 minutes. The capacity o '

three pip 8. 450 gallans €. 120 gallons D, 150 gallons 1 : hl \

A, 250 gations l fill a iank in 15 minutes and 40 minutes respectively, Both the pipes are opened together bu

20. Two Fflpk"_"i p and Dpj:‘:um;d off Whal is the total time required to fill the tank?

after 4 mlr;l.;te:;lllpe & 38 min 20 36C C. 2% min 20 sec D, 20 min 10 sec

A. 10 min 105 :

e COUN oded A ow (s GUIDANCE writien in that code?
i UNSLL s coded as HITIRAK, h s
21.1tin @ e > " C, RIYRHID [, rOHYZIng

The number of hours taken by C alone to fill the tank?
D, 16
pe can emply 3 gallons per minute. Al the

i g, 4 15 TWELVE written In that
; " i 863985 and [LIVEN Is written as 3230349, how
i I de TWENTY s written as 9

72 Ifina certain code,
: u? B6 0 C. 863203 0. 320368 .
23.1n £ L ' ! ; : "means 'rose and

A ; de | :uage '‘B51" means ‘good sweet fruit’, ‘7R3 means gnud red rose and '341

rtain code lan f ' : ?

". | wa ch'chufthe following diglts stands for sweet' In thal lanpuage .

fr itl' . B‘! :h4 D. '

A2 -

. AX
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24.1n a certain code language, ‘col tip mot’ means ‘singing 1s appreciable’, ‘mot baj min® means ‘dancing s good' and 'tip
nep baj" means "unging and dancing’, then, which of the following means 'good” in that code language ?

AL Not B Baj C Nin 0. Nop

254 DELHI s coded as CTIDD, how would you encode BOMBAY?

AL AINTVT B AMIXVS C. MIXVSU D. WXYZAX

26 It in a cerain language. SHIFT is coded as RFFRO. which word would be coded as LKUMB?

A NMMEQG B. MLVNC C. KIVLA 0. MIVLE

27.1n a certain code, RIPPLE is written as 513382 and LIFE is written as 8192, How s PILLER written in that code?
A 31E826 B. 318286 C 618816 0. 338316

28, If PALAM could be given the code number 43, what code number can be given to SANTACRUZ?

A 75 B, 85 C. 120 D. 123

29. If ‘gnr tag zog gmp’ stands for “Seou! Olympic Organising committee’, "hyto gar emf’ stands for “summer Olympic
games' and ‘esm sdr hyto’ stands for ‘modern games history’, what would be the code for ‘summer'?

A hyto B gnr C.emf D. zog

30 112 =52 and ACT = 48, then BAT will be equal to

A 39 8 a1 C. a4 0. 46

Direction (31-35) Choose the correct form of Verb that Is in agreement with the subject- 1
31. She her office by 9 a.m. daily,

A reach 8. reaches C. reached D. reaching

32. The Information which obtained from the business owners relevant to be included in the
study.

A, has, 15 8. had. has C. has, have D.ls, s

33. The student or the committee members everyday and each of the members most welcome
for that.

A, write, are B. write, is C.owrites, s D, write, were i
14. Shubham as well as hus brothers coming, today,

A are B. had been Cls D. have been

15. Prachi is ane al the students who passed the exam,

A have B has C. had been 0. would have

Direction [36-39) Choose the correct answer fram the options glven below- i
16 Why you should be lstening 1o me?

A, you talk B, you are talking C. do you talk 0. are you talking

17 You inta things and break them. How can someone be so clumsy?

A are always bumping B, always bumps L. always bumplng 0. always bump

18, | working all afternoon. have |ust linlshed the assignment,

A have been f. had been C. shall be b.am !
39, By the next month, we shall the project.
A has completed B rompleting C. completed 0. have completed

Direction (40-41) Choose the correct sentence,
40. A. When | woke ufi, he hay already eoten broaklast,

B, When | woke up, he had already eaten broakiast,
C. When I had woken up, he had already caten breakfast,
0. When | had woken up, he has already eaten breakfast,

- r"\%
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41 AM
. onmik;
B mun,kul| .: likes playing Ludo, carroms, and play chess
iy ll es playing Ludo, play carroms, and to play chess
5 o kﬂ ihes playing Ludo, carroms, and chess -
Mk " .
mmcnon}{::ts 1o play Ludo, carroms, and playing chess,
42 The art -45) Choose the correct answer from the options given below:
o T- studio (s spacious, pleasantly cluttered
.and has pood g i Coandisitwel D.and
o pood lighting 8. and being welklit — Coandislit well D, and well-lit
or lunch L would Yike |

A. fri '
ol N ey et
= ’ : : 0. None af the above.
ay to avoid misplaced modifiers is to place the madifier close to the ward it modifies.
A, True. B. False C. Can'tsay 0. None of these
45. Which word is being modified? His costume, which was quite aripinal, was just 2 cardboard box,
A. costume B large C. cardhoard D. original

in the following the questions choose the word which best expresses the meaning of the given word.

46. CORPULENT-

A, Lean B. Gaunt C. Emaciated D. Obese
a7. Brief-
A. Limited g. small C. Little D. Short
48- Alert-

D, Observant

g, Watchful C. Intelligent
d or a phrase which is und
g of the word or phrase un

grlined. Itis followed by four words or phrases. Select

derlined.

A, Energetic
Each sentence
the word of phrase W

below consists of a wor
hich is the OPPOSITE in the meanin

¢ island were barbarians.

a9. The inhabitants of th
Al civilized @ cruel c. uncivilized D. bad
50, The members thought that the task was feasible. ’
A urtl'r:nsnblr:. B. impossible C. difficult D. imprncumblo
F’J-
!
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DEPARTMENT OF COMPUTER ENGINEERING

“T3 Examination, Dec-2022"

SEMESTER 7t DATE OF EXAM  [19/122022

SUBJECT VIRTUALIZATION - SUBJECT CODE | CSH422B-T

NAME CONTAINERS/CLOUD

BRANCH CSE-DTE SESSION Morning

TIME 9:00am-11:00am MAX. MARKS 100

PROGRAM B.Tech CREDITS 5

NAME OF Ms. Anu Priya Sharma NAME OF Ms. Anu Priya

FACULTY COURSE Sharma
COORDINATOR

Please go through the following instructions before the stavt of the exam:
a. All questions are compulsory. Explain with diagrams wherever required. More

weightage will be given to answers supported with examples and diagrams. Part A

carries 10 marks, Part B 10 marks, Part C carries 40 marks and Part D carries 40

marks.
Q.NO, QUESTIONS i : MARKS | . o &S M
Pa @ 1(A)| How are microservices different from
R:I;- Monolytic architecture? Co3 BT4 5.3.]
A (QI UgJ How is Kubernetes different from Docker
<| Swarm? C04 BT3 5.3.1
PA ‘ Explain the docker commands to: CO4 BT1 5.1.:
RT-
B @ ’QU}J 1. Create a new container

2. Pull an image or a repaository fram a registry
3. Remove one or more images

4. Start one or more stopped containers

1 5. docker run
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DEPARTMENT OF Computer Science & Technology
“End Term Examination,Dec-2022"

]__S_E_MESTER 7"(ECE) DATE OF EXAM 19.12.2022 7 |
SUBJECT THEORY OF SUBJECT CODE RS H Lf 95 |
NAME AUTOMATA AND )

. COMPILERDESIGN = o
BRANCH  CST _ SESSION  MORNING |
|TIME  9:00-12: 00  MAX.MARKS 100 . |
| PROGRAM ~ BTECH _CREDITS 4 - |
NAME OF DEEPANSHI GUPTA NAME OF DEEPANSHT
FACULTY COURSE GUPTA
COORDINATOR \ | \
Note: Part A : All questions are compulsory. \J
cO BLOOM'S
0 S A
Q.NO. ! 5 QUESTIONS MARKS ADDRESSED | LEVEL ,_!.
P
A
R Q1 | What is Automata? How it is uscful in real
T- life applications? Give formal definition of a
Turing Machine. Construct a Turing machine 11.
g
A for accepting palindromes. 10 C01,C03 BT1 2
PA State about left and right tree derivation?
Give formal definition of a Push Down
RT Automata(PDA). Construct PDA for -
‘B | 0z | L={WoW" | W2 over y={ab}] 10 £02,C03 BT1BT2 |1
Test whether the following grammar is LL (1)
P or not. Construct predictive parsing table for 2.3,
Q3 |it. S—IABIE,A—+1AC|0C, B—0S,C— 1 10 Co4 BT3 1
A What is first and foilow? Why it is im porknt
R in compiler Design? Explain LR(0) parsmcr 1.1.
3 Q4 | with suitable example. 20 CO4 BT1 3
T- Explain the analysis synthesis model of
C compilation. List the factors that affect the
design of compiler. Also List major functions _ 1.3.
| Q5 | done by compiler. 10 CO4 BT1 1
P ; Explain various code optimization 1.3.
Q6 [ technigues o 10 Co5 BT1 2
destesk ke
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the code? What are the advantages of it?

A | | What is SDD,SDT and Intermediate form of
R What are generally used intermediate forms?

T- Write N-Tuple notation for: (at+b)*(c+d)- 2.1.
Q7 | (atb+c) 20 Co5 BT2 1
D What is the difference between parse tree and

syntax tree? Write appropriate grammar and
draw parse as well as syntax tree for a*(a-
a“a) -

Y
G
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DEPARTMENT OF Computer Science & Technology
“T3 Examination,Dec-2022"

SEMESTER | VII |_DATE OF EXAM | 12 Dec 2022 i
SUBJECT | INFORMATION | SUBJECT CODE | CSH414B-T |
NAME | RETRIEVAL l |
BRANCH | CSE/DSML/DTE | SESSION | Morning |
TIME | 9:08am -12:00pm | MAX. MARKS 200 E
PROGRAM | B.Tech 7sem |_CREDITS |5 |
' NAME OF Mr. Agha, Mr. Sanjay | NAME OF Ms. Meera
FACULTY ,Ms. Dimple, Ms. Meena | COURSE Chaudhary I
Chaudhary COORDINATOR I
Note: All questions are compulsory. ()
- | [T : R THSEEBIO i
TaaA P 3 g Y ) ] : e + ||l ; ICDL dM' .--::_-_ FaN]
B0 QLTINS e 5| REss?| Sl SRS
gi i i P& I = o
| | Consider the following axioms:
i - | Sohani likes all kind of food.
| | Banana and Cucumber are food.
| | Anything anyone eats andis not killed is food.
el Ql Ayusheats peanuts and still alive
g || Prove by resolution that:Sohani likes peanuts.
Sl
b 3| 4 10 COl BT4 | 141
;'r,. | Represent by a semantic net the objects and relations
At BER 51 described in the sentence:
R QZ_ e Every girl loves to party.
S [ERRRT o e Ankita believes that orange is tasty.
2 AP 10 cot | B13 | 13.1
Sl .|| Define Jaccard’s coefficient. How it is used for ranking '
A : of web documents? .Find the value
B | | ofJaccard’s coefficient of following set.
.E | Query: ides of March.
| | Documentl: Marcus and Caesar met in March.
= | | Document2: The fabulous March.
S| 038 10 Co2 | BT3 | 141
ke sk ok sk ok
(@
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Explain extended Boolean model versus Ranked
retrieval Model for Information Retrieval .

10

COo2

BT2

14.1

[ Q4

Let us have the following set of index terms

K = {*Frodo”, “Sam”, “blue”, “sword”, “orc”, “Mordor”}
Let us have the following collection of documents

d1: {“Frodo stabbed the orc with the red sword™”}

d2: {*Frodo and Sam used the blue lamp to locate orcs™}

d3: {“Sam killed many orcs in Mordor with the blue sword”}
Which documents are relevant for the following queries?

| Explain with the help of Boolean Retrieval Model

10

COo3

BT4

1.3.1

Discuss the significance of Zipf’s Law for modeling the

| distributing of terms. Is there any other application where we
| can use this law?

10

CQO3

BT3

1.4.1

| it

| Explain the Heap's Law for Estimating the Number of

Terms, along with the mathematical model that behind

10

CO3

BT3

| Explain the hypothesis used in vector space model for |.
- | classification. How document are represented Using Naive

Bayes.

10

COo4

BT2

1.4.1

Suppose the document collection contains two documents:

- | d1: Xyzzy reports a profit but revenue  is down

| d2: Quorus narrows quarter loss but revenue decreases further

The model will be MLE unigram models from the

| documents and collection, mixed with /= 1/2.

Suppose the query is revenue down. Then: find
1. P(gld1)
2. P(gla2)

10

CO4

| Differentiate between Dictionary compression and Postings
| file compression with example.

What is the final result?

EPET T

\oC

BT4

2.24
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DEPARTMENT OF COMPUTER SCIENCE & TECHNOLOGY
“End Semester Examination, Dec-2022"

_SEMESTER | Y™ | DATE OF EXAM | 14122022

SUBJECT | SOFTWARE PROJECT | SUBJECT CODE | CSH307B.T
NAME | MANAGEMENT
_BRANCH | DSML _| SESSION | 9AM-I2PM |
TIME | 3Hrs | MAX. MARKS | 75 |
PROGRAM | CSE | |_CREDITS | 4 _ |
NAME OF | Mr. Agha Imran NAME OF Mr. Agha Imran
FACULTY ' COURSE
| COORDINATOR L\
Note: Attempt all questions. s
M ~
A Cco BLOO
Q.NO. QUESTIONS R M'S PI
K ADDRESSED LEVEL
S
What you understand by Activity Diagram? What is the
o role of Activity Diagram in any software project?
= | QL. Explain. Draw the Activity Diagram for ERP system.
= 15 co1 BT2, 2.2.2
- BT3
>
The following details are available regarding a project:
Determine the critical path, the critical activities and
the project completion time.
Activity | Name Time
1-2 A 5
1-3 B 2
- 24 C 3
= , |[34 D 2
3 Q2. 35 E 3 15 CcOo1 BT3 222
= 4-9 F 6
5-6 G 3
5-7 H 7
6-8 1 3
7-8 J 3
8-10 K 6
9-10 L 8

EEE 2253
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What would be the basic cocomo i
. / ( equations form? A
- a3 grOJect size of 800 KLOC is to be developed. Software
N evelopment team has average experi imi
P i 8¢ experience on similar
o Eyplle ? projects. The project schedule is not very tight. 15 €0z BT3 [322
",'3 Sis; ;L; rz::ie l;::uadEﬂ’qrt. development time, average staff
2 oductivity of the project.
N 1
Q3 | Define contract mana
_ gement, What are the advantages
(B) | & disadvantages of fixed price contracts? = 10 (o3 P2
3.2.4
4 . -
E & : (\éVnte ;1 short note on SEI capability maturity model
> MM). 10 CO4 BT2 4.1.2
-
Q4
' Explain Quality Ch isti
B ty Characteristics and IS
- (B) 0912e6. 10 CO5 BT2 4.2.2
dokeok gk ko
o
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DEPARTMENT OF COMPUTER SCIENCE AND TECHNOLOGY
“T3 Examination, December-2022"

|SEMESTER “7th Sem ~  DATEOFEXAM  14/1272022 |
SUBJECT NAl\'IE Software Requlremem ~ SUBJECT CODE . CSH412B-T
e 3 Engineering o I e

| BRANCH  * CSE _ ~ SESSION  Fist ]
| TIME 3 Hour B ~ MAX.MARKS 75 ]
| PROGRAM ~ BTech ~_ CREDITS 04 |
NAME OF Dr Prinima, Mr Narender NAME OF COURSE Dr Prinima

FACULTY Gautam COORDINATOR

Note: Part A: Each Question carries 5 marks. W

Part B: Each Ouesrian carries 10 marks.

:E e . AN ;1{;:_.;5-._-.-1',.'.‘;.j;..._,_..y.:. SRR gl CO it
QNo. | IR QUEs'moNs e MR RE |- o | P
TR _ R et it S LEVE | .
- _ T e A Tt -._‘_ e brane | 5 Thatl e A s ZS8SED. |~
e A P o TP

1 Whar issues might arise when a requirements engineer,
(A), whuo is not a subject matter cxpert, enlists a subject matter

expert to assist in defining requirements? 5 COl BT2 3.1.2
1(B) | Differcntiate between Requirement validation and

P verification? 5 CO2 BT2 1.4.1
ﬁ 1(C) | Why can it be difficult for agile methodologies to

T cover nonfunctional requirements? 5 CO3 BT2 1.4.1
A 1 What are the advantages and risks of having
D) requirements engineering conducted (or assisted) by

~ | an outside firm or consultants? 5 Co2 BT2 3.1.2
1(E). | When selecting an  open-source tool, what

" | characteristics should you look for? 5 CO4 BT2 |3.1.2

P

A 3 Create and describe a Rich picture diagram for the airline

R Q2. | reservaton system. 10 COl BT3 2.3.1
T- | For the aitport baggage handling system, generate the user
B | story and use case for dealing with a lost picce of

Q3 | bageage. 10 CO4 BT3 2.3.1

- Q4" | Draw a Use case diagram for a Social Networking Site. 10 CO2 BT3 2.3.1

Q5 | Here are some examples of vague and ambiguous 10 CcOo2 BT3 |23.1
© . | requirements that have actually appeared in real

sk ok 3k sk ok
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requirements specifications. Discuss why they
arc vague, incomplete, or ambiguous. Providc
improved versions of these requirements (make
necessary assumptions).

a) The engineer shall manage the system

activity, including the database.

b) The system will provide an effective means
for identifying and eliminating undesirable
failure modes and/or performance
degradation below acceptable limits.

Explain 3 Objections, 4 Myths, and 3 Limitations of
Formal inethods?
ey

)y

e

B o
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FACULTY NAME: Dr Neelu Chaudhary - NAME 01‘ COURSF COORDINATOR Dr Neclu Chaudhary
COURSE CODE: _ |TTME DURATION: |DATE OF EXAM:
COURSE NAME: Big Data  |CSH426B /csi 4487 |CREDIT: 05 [MAX. MARKS: 100 ]3:00 hrs 16-12-22
PROGRAM: B.Tech CSE-DSML/CSE-DTE/ECE _ [SEMESTER: 7th ] Session - T, ]
Note: All Questions are Compulsory, ‘%‘
V\At“— >
B 0O ]
s In |qu time apphc'ltmns what are the sources oftlata"’ lefcrcnl‘mle
y |petween various categories of data. Elaborate your answer with valid
Cx |o o0 |examples.
g 5 €Ol BT3 1.4.1
\ |Is Data Science diffcrent from big data? Justify your answer
7 i s AN 5 col BT2 1.4.1
~ifs 5 What are the configuration parameters in a “MapReduce™ program?
| . |Whatare the Daemons of Hadoop? Explain it's working with the help of
HR ‘[suitable diagram.
Py 10 cO? BT2 1.4.1
= | = |Explain the evolution of big data analytics and their advantage in
.+ | 3(a) |[handling real world data. Ol
IRl 10 Co3 BT2 | 14
[ e [10a client application wants to read or write data on Hadoop system,
.:_c 3 30:,) how it can interact with name node and data node, justify vour answer
~ 5 |with suitable diagram 10 CO3 BT3 1.4.1
J1|Explain how New SQL is best suited for higher performance.Diffrentinte
1) its features with SQL and No SQL. 20 CO3 BT2
{[Design and explain HIVE architecture.Diffrentiate between HIVE and
1
#|P1G. 10 |concos| BT3 | 141
. |Write commands to create and manage databases and tables in hive.
: . 10 CO4 BT2 1.4.1
‘IWrite short notes on the following with ¢xamples :
'|a. Business Intelligence on Hadoop
. |b. R-Programming and MongoDB 10 {COo1.co4| BT2 1.4.2
7" Explain the complete Ecosystem of Hadoop with suitable diagrams
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